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Unit |

Electricity
Vocabulary Study
Word List
Nouns and noun phrases
1. anode aHo[
2. amplifier ycunurtenb
3. cathode KaTon
4. charge 3apsg, 3apsaKeHune
electrical charge 3IeKTPUYECKUIN 3apss
5. circuit Lenb, cxema
6. current TOK
alternating current nepemMeHHbIN TOK
direct current NOCTOAHHbIN TOK
7. diode aunon
8. electrode anekTpoa
9. electron 3NEeKTPOH
10. enclosure oropaxwuBaHue, orpaxaeHue, orpaga
metal enclosure MeTanmanyeckui 6annoH
11. filament HUTb HakKana, HUTb
12. flow Te4yeHue, NOTOK, CTpyA
13. grid ceTka
14. invention n3obpeTteHue
15. outside Hapy>XHasi CTOPOHa, BHELLHSAS
NOBEPXHOCTb
16. oxide OKUCb
baring oxide okucb bapus
strontium oxide OKUCb CTPOHLMA
thorium oxide OKUCb TOpUS
17. plate nnacTtuHa, nonoca
18. power 3Heprus
19. rectifier BbINPAMUTESb
20. supply nnTaHue, cHabXxeHne, NnoctaBska, NoaBoA
21. tube (anekTpoHHas) namna, (9NeKTPOHHbLIN)
electron tube npubop; Tpybka, Tpyba
triode tube Tpuoa
22. valve 3NeKTpoHHas fnamMna
23. voltage HanpsixeHne, BonbTax
Adjectives
1. substantial BELLECTBEHHbIN, peanbHbIi,

3HAYUTENbHbIN, 3aMETHbIN



Verbs

1. act JencrteoBaTb
2. apply NPUMEHATbL, NpunaraTtb
3. cause BbI3blBaTb
4. coat MNOKpbIBaTb
5. conduct NpoBOAUTbL
6. control perynupoBaTtb, KOHTPONMPOBaTb,
ynpasnsTb
7. emit ncnyckartb, n3ny4vatb
8. evacuate ouynwiaTb
evacuated atmosphere BblKa4eHHbIN BO34yX
9. heat HarpeBaTb, HaKansTb
10. increase yBenuymeartb, pactu
11. insulate n3onmpoBaTb
12. place KnacTb, NOMOXUTb, NOMeLlaTb
13. seal oneyatbiBaTb, NNIOMO6MpoBaTh
14. state 3aABNATb, CKa3aTtb, yTBepXaaTb
15. utilize MCNonbL3oBaTh, YyTUIN3NPOBATb

I. Read and translate the following words. Arrange them into the groups:
a) with one stress or stress on the first syllable; b) with the stress on the
second syllable; c) with two or more stresses.

Utilize, increase, insulate, filament, invention, electron, current, cathode,
amplifier, diode, grid, oxide, plate, rectifier, substantial, apply, control,
evacuate, emit, supply.

Il. Match the words on the left with the definitions on the right.

1) electrode
2) anode

3) charge
4) current
5) cathode
6) circuit

7) filament
8) apply

9) conduct

10) emit

a. Flow of electricity through something or along a wire
or cable.

b. Amount of electricity put into an accumulator,
contained in a substance, etc.

c. Positively charged electrode (from which current
enters).

d. Negative electrode in the form of filament which,
when hot, releases negative electrons which are
attracted towards the anode.

e. Closed path for an electrical current.

f. Solid conductor by which an electric current enters
or leaves a vacuum tube.

g. Slender thread, e.g. of wire in an electric light bulb.

h. Make practical use of (research, a discovery).

i. Allow electric current to pass along or through.

j- Give or send out.



Ill.  Choose:
a) a noun
1. a) invent; b) invention; c) inventive.
2. a) plateless; b) plateful; c) plate.
3. a) application; b) apply; c)applicable.
4. a) control; b) controllable; c) controller.
b) a verb
1. a) utilization; b) utilize; c) utilizable.
c) an adjective
1. a) cause; b) causal; c) causeless.
d) an adverb
1. a) increase; b) increasingly; c) increased.

IV.  Define the meaning of the “x” words.
1) Enclose: enclosure = x: oropaxnsaHue.
2) Oxide: oxidation = okncnsaTb: X.
3) Conduct: conductivity = x: NpoBOANMOCTb.
4) Emit: emission = nany4vats: X.
5) Evacuate: evacuation = x: ounwieHue.
6) Insulate: insulation = x: nsonsuus.

V.  Make adjectives from the following nouns by adding the suffixes: -al, -
able, -ous, -ic, -ive.
Substantiation, act, state, utilization, charge, circuit, electron, invention.

VI.  Arrange the words with similar meaning of the two groups in pairs.

To amplify, enclosure, flow, to supply, tube, power, substantial, to act, to
apply, to cause, to coat, to control, to emit, to place, to state.

To confirm, to strengthen, current, to provide, energy, real, to do, to use, to
regulate, to put, to radiate, fencing, valve, to occasion, to cover.

VIl. Match the words with their opposites, like the example:

unknown well-known
a) outside 1) unreal
b) anode 2) to rest
c) to rectify 3) cathode
d) substantial 4) inside
e) toact 5) to distort
f) to coat 6) to uncover
g) to evacuate 7) to pollute
h) to heat 8) to cool
1) toincrease 9) to decrease

j) flow 10) stagnation



VIIl. Match the verbs from “a” with the nouns from "b”.

a) emit b) electrons
heat cathode
utilize filament
insulate heater
increase current
conduct circuits
control electrical charge
place tube
cause changes
amplify voltage

IX. Complete the sentences with the given words.
Invention, diode, is insulated, emits, alternating, direct, detector,

NOoOOR®N =~
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enclosure.
The simplest of electron tubes is the ..., which has two electrodes.

Modern electronic industry was born with the ... of the electron tube.

The heated cathode ... the electrons.

The heater ... from the metal tube.

Diode tubes are often used to change ... current to ... current.
The diode tube can be used as a ....

An electron tube consists of a glass or metal ....

. Translate into English.

[Avopa cocTtonT 13 Katoda v aHoga.

HarpeBaTtenb 06bIYHO U30NIMPYETCA OT MeTansinyeckon TpyoKu.
[voa no3sBongdeT TOKY TeYb TOMbKO B O4HOM HarnpasSieHUN.
Avoabl MOryT WMCNOMb30BaTbCA B KayecTBe BbINpAMUTENEN,
npeBpaTUTb NepeMeHHbIU TOK B MOCTOAHHbIN.

[voabl HacTo UCNosb3yTCA B paano 1 Tenesmsopax.

Tpuoa cocTonT U3 TPEX ANEMEHTOB: KaToAa, aHo4a U CETKM.

. Tpl/IOJJ, MOXET MUCMOJ1Ib30BaTbCA KaK YCUITUTESb.

A. Text Study

Look at the title. What do you think this reading will be about?

Text A
THE ELECTRON TUBE

YTOObI

It may be stated that the modern electronic industry was born with the
invention of the electron tube. An electron tube, also called a vacuum valve,
consists of a glass or metal enclosure in which electrodes are placed and
sealed in either a gaseous or an evacuated atmosphere.



The simplest of electron tubes is the diode, which has two operating
electrodes. One of these is the heated cathode, which emits the electrons,
and the other is the plate or anode. The cathode may be directly heated or
indirectly heated. The tube with the directly heated cathode utilizes the
heated filament for the cathode; in this case the filament is coated with a
special material, which greatly increases the number of electrons emitted. If
the tube has an indirectly heated cathode, the cathode consists of a metal
tube in the center of which is a filament or heater. The heater is insulated
from the metal tube.

The outside of the cathode tube is covered with an electron-emitting
material such as baring oxide, strontium oxide or thorium oxide.

The principal advantage of the diode tube is that it permits the flow of
current in one direction only, that is, from the heated cathode to the anode.
Alternating current applied to the cathode, the tube will conduct only during
one half of each cycle, the cathode being negative and anode or plate being
positive. For this reason diode tubes are often used as reciifiers to change
alternating current to direct current. Diode tubes are used in the power-supply
circuits of such electronic devices as radio and television. Another use of the
diode tube is a detector (B kauecTBe getekTopa).

The triode tube was discovered by adding a third element to the diode
tube. The electron flowing from the cathode to the plate could be effectively
controlled by changing the electrical charge on the grid placed between them.
The effect of the grid in a triode makes it possible for the tube to act as an
amplifier, small changes in voltage on the grid causing very substantial
changes in the current flow from the cathode to the plate.

Il. Read the text again carefully and answer the questions.

1. What was born with the invention of the electron tube?

2. What does an electron tube consist of?

3. What is the simplest of electron tubes?

4. What are the operating electrodes of the diode?

5. What is the difference between the tube with the directly and indirectly
heated cathode?

6. What is covered with an electron-emitting material?

7. What is the principal advantage of the diode?

8. Why are diode tubes often used as rectifiers?

9. What does the triode tube consist of?

10. What does the grid make it possible to do in a triode?

Ill. Which of the vocabulary units used in paragraphs 1-2 could be
regarded as international words?



IV. Read the translation of the first paragraph. Compare it with the
original and say if everything is right.

YTBEepXaatT, 4YTO COBPEMEHHas 3reKTPOHHAsA MPOMbILLSIEHHOCTb
Ha4anacb C M300pEeTEeHUs1 3MEKTPOHHOW nammnbl. ONEKTPoHHasa namna
Takke HasblBaeTca BakyyMHOW namnon. OHa COCTOUT U3 CTEKNAHHOro
nnu metannuyeckoro G6ansioHa, B KOTOPbIA NMOMELLAKTCA 3S1eKTpoabl U
3anevaTbiBaloTCA NMBO B razoobpasHon, Mnbo B BakyyMHOM aTtMocdepe.

V. Find the English equivalents of the following words and word
combinations in paragraph 2.
[vopa, oBa OenCTBYIOWMX SNEKTPoaa, HarpeThbl KaTtoq, NCnyckaTb
3M1IEKTPOHbI, aHO, HarpeTasi HUTb HakanMBaHusl, B 3TOM crnyvae,
NOKpbIBaTb 0COBLIM BELLECTBOM, U30MPOBaTb.

VI. Find the passage about the advantage of the diode and its use and
franslate it info Russian.

VIl. Choose a passage and read it aloud (1-2 minutes).

VIIl. Find complex grammar structures in the text and divide them into
simple ones.

IX. Find out the subject-matter and the means of its secondary
expression.

e.g. She likes to read books. They are interesting.

X. Find key words, phrases and the topic sentences which express the
general meaning of each paragraph best of all.

Xl. Using the information obtained from the paragraphs make a plan of
the text.

Xll. Speak about the electron tube using key words, phrases, the topic
sentences and the plan of the text.

B. Text Study

I. Look at the title of the text. Make your predictions about the content
of it. Read the text and answer the question.
When can people get an electric shock?

Text B
ELECTRIC SHOCK AND SAFETY ELECTRIC SYSTEM
The strength of current depends on both the voltage and the resistance
in a circuit. A current of 50 ma is dangerous for a man; it may result in an

electric shock. One gets an electric shock in case one touches live
conductors when the power is on. And a current of 100 ma and higher is



lethal. Thus, before working on a circuit, deenergize it and work on it with the
power off.

Earthing system serves to protect attending personnel from electric
shocks when voltage appears on parts that are normally dead. The risk of an
electric shock decreases with decreasing voltage. In wet and hot atmosphere
the risk of electric shock increases. Safe voltage for circuits used in dry
atmosphere is under 36 V. When the power is on contacts live conductors are
dangerous for life. When a live conductor is touched with both hands the
resistance of the conductor is from 10,000 to 50,000 ohms. When a live
conductor is touched with one hand the resistance is much higher. The higher
is the body resistance, the smaller is the current that flows through the body.
Take it into consideration and work with one hand if the power is on! Or work
on the circuit with the power off!

Thus measures are taken to protect attending personnel from contacts
with live parts of installations under voltage.

The danger of electric shock disappears provided the metal parts of
installations under voltage are connected with ground by means of safety
earthing. Connecting to ground is made by means of measuring devices. The
faulty parts should be detected, eliminated, and replaced by new ones.

Il. Read the text and define whether the following statements are true or
false.

1. A current of 60ma isn’t dangerous for a man.

2. When the power is on it’s possible to get an electric shock.

3. It's impossible to protect people from electric shocks by means of
earhting system.

4. The risk of electric shock decreases in wet and hot atmosphere.

5. The risk of electric shock is much higher when a live conductor is
touched with one hand.

Ill. Expand the sentences.

1. The strength of current depends on both ....

One gets an electric shock in case ....

Safe voltage for circuits used in dry atmosphere is ....

When the power is on contacts live conductors are ....

The resistance of the conductor is from 10,000 to 50,000 ohms when

RPN

The higher is the body resistance, the smaller ....
. The danger of electric shock disappears provided ....

N

IV. Now decide which of the following statements express important ideas
or supporting details for this reading.

1. a) A current may be dangerous for a man, it may result in an electric

shock.



b) One gets an electric shock in case one touches live conductors when
the power is on.
c) A current of 100ma and higher is lethal.

2. a) When a live conductor is touched with both hands the resistance of
the conductor is from 10,000 to 50,000 ohms.
b) When a live conductor is touched with one hand the resistance is
much higher.
c) The higher is the body resistance, the smaller is the current that flows
through the body.

3. a) Earthing system serves to protect personnel from electric shocks.
b) Connecting to ground is made by means of measuring devices.
c) The faulty parts should be detected, eliminated, and replaced by new
ones.
d) Safety measures should be taken to protect people from electric
current.

V. Find the words — carriers of the primary and the secondary
information in paragraph 1.
VI. Define the function of commas in paragraph 2.
VIl. Find out the means of connection between clauses, parts of the
sentence and sentences.

VIIl. Arrange the sentences in the logical order according to the text.
1. Earthing system serves to protect attending personnel from electric
shocks.
2.The strength of current depends on the voltage and resistance in a
circuit.
3. Current may result in electric shock.
4. It is necessary to work with one hand if the power is on or work with
the power off.

IX. Give the main points of the text in 4-5 sentences.
C. Text Study
|. Translate the text into Russian.
Text C
INSULATORS

Insulating materials have a very low conductivity. They offer extremely
high resistance to the flow of current. Insulators are used in electric devices to
isolate conductors. Thus they should have a high dielectric strength and a



high resistivity. Their mechanical properties are also important for practical
use.

Insulators are divided into gaseous, liquid and solid. They are also
divided into groups according to their heat resistance.

The main gaseous insulator is air. At 20°C the dielectric strength of air
is extremely low; it is lower than the strength of most liquid and solid
dielectrics.

Liquid insulators are mineral oils, synthetic liquids, resins, and others.
Of them mineral oils are used in oil transformers, cables and capacitors. In
transformers, oil is used to insulate current conducting parts. Thus, it should
have a high dielectric strength (10 to 20 mV/m). As to resins, at low
temperatures they are amorphous. When heated, they become first plastic,
then liquid. Resins are the most important components of many plastics.
(Commonly used in electrical engineering are synthetic (polymeric) resins —
polyethylene). Plastics are used as wire and cable insulation. Solid insulators
are paper, cloth, plastics, and porcelain. Of them plastics are widely used in
electrical engineering as insulating and structural materials. As to porcelain, it
is highly resistant to mechanical factors and heat. Due to this property it is
used to produce low- and high-voltage insulators.

Grammar Study
BpemeHa rpynnbl Simple

Ecnu HyXHO cooOWMTL O OENCTBUN WUIIM COCTOAHUM B HACTOALLEM,
npoweawemM wnu 0Oyayuwem, He ykasblBasg Ha Xapaktep npoTekaHus
aencteus, To ynotpebnawT Present, Past, Future Simple B 3aBucMmocTu ot
BpeMeHn geuncteusa. [ns obpasoBaHuUs BOMPOCUTENBHOM U OTpULATENBHON
dopM MCNONb3YTCA BCNoMoraTtenbHble rnaronsl do (does) — Present
Simple, did — Past Simple, shall / will — Future Simple.

Ecnu ckasyemoe BblpaxeHo rnaronom to be, to have unm mogansbHbIMK
rmaronamm (can, may, must n gp.), To oTpuuaTensHaa U BOMPOCUTENbHAas
dopmbl 06pPa3yOTCA UMN CaMOCTOATENbHO, 6€3 MOMOLLM BCNOMOraTenbHbIX
rnarosos.

CnpskeHune rnaronos rpynnbel Simple

Present Simple | | | |Past Simple Future Simple
1 2 3
YTBEpau- | ask, make | asked, made | (we) shall ask, make
TenbHas He (she) asks, He (she) asked, He (she) will ask,

makes
We (you, they)
ask, make

made
We (you, they)
asked, made

make
You (they) will ask,
make




1

2

3

Bonpocu- Do you ask? Did you (they, we, | Shall we ask? make?
TenbHas make? he) Will he (you, they)
Does she ask? ask? make? ask? make?
make?
OTtpuua- | do not (don’t) | (he, she, they) | (we) shall not
TenbHas ask, make did not (didn’t) (shan’t) ask, make

He (she) does

ask, make

He (she, you, they)

not (doesn’t)
ask, make

will not (won’t)
ask, make

["naron to be
(to be — was / were — been)

CuHTakcmn4yeckas (byHKLI,VIFI n
3Ha4YeHne

MNpumep 1 nepesoa

1. CMbICIOBOW rnaros co
3Ha4YeHnEeM «ObITb», KHAXOOUTbLCA»
(korga 3a HUM cnegyeT
CyLLEeCTBUTENBHOE C NPeAsIoroM uUnu
Hapeuue)

The new device is in the laboratory.
HoBbin npubop HaxoauTcs B
nabopaTtopuw.

2. naron-cesska (B covyeTaHum
npeankaTMBoM) CO 3HAYEHUEM
«ObITbY, «ABMATLCSA», KCOCTOATbY,
«3aKn4yaTtbcay

My father is a designer.

Mow oTel, — KOHCTPYKTOP.

Qur aim is to obtain reliable results.
Hawa uenb cocTouT B TOM, YTOObI
NoSyuYnTb HaZEeXHble pe3ynbTaThbl.

3. BcnomorartenbHbIv rnarosn ang
obpasoBaHna popm:
a) Continuous, Perfect
Continuous

b) ctpagaTensHoro 3anora

She was listening to the radio in
the kitchen. — OHa cnywana paguo
Ha KyxHe.

It has been raining since 9 o’clook
a.m. — [loxab nget ¢ 9 yacos yTpa.
The telephone was invented by
A.Bell.

TenedoH Obin n3obpeTeH
A.bennom.

4. MopanbHbIW rnaron co
3Ha4YeHneM «OO0IMKeH», Koraa oH
CTOUT nepen NHPUHNUTUBOM
CMbICITIOBOrO rfarona c yactuuen
“4o”

The lecture is to begin at 10 o’clock.
Jlekumsa pormkHa HavaTbea B 10
4acoB.




I.Choose the correct phrase underlined in each sentence.

What time go you/do you go to bed on Saturdays ?

Why are you waiting/do you waiting outside the door?
Don’t ask Tim. He doesn’t know/not knows the answer.

| having/I'm having my lunch at the moment.

When you leave/do you leave the house ?

| don’t understand. What is happening/is happen?
Excuse me, does you know/do you know the time?

This is a great party. I'm having/Am | having a lovely time.
We can’t use the lift because it don’t works/doesn’t work.

CONDIOHWN =

10._ What you are doing/are you doing here?

ll. Read the answers and then complete the questions.

1. Where ..does Sue....... live......cooviiiii. ?
Sue? She lives at the end of Axwell Road.

2. DO ?
Jim? No, | don’t know him.

3. What.. e ?
At the moment’? I m domg my homework

N = ?
Here? No, I'm sitting over there.

8. DO ?
Here? No, we change trains at the next station.

B. WY ..o e, ?
I'm wearing two pullovers because | feel cold!

/5 - T ?
David? No, he's not staying with Tom.

8. When. .o ?

. Kate? She comes home at 6.30.

Ill. Rewrite each sentence so that the verb underlined is a
negative contraction.

1. Naomi and Bill are watching television.

Naomi and Bill aren’t watching television.

2. Pater likes chocolate cake.




6. The sun sets in the east.

IV. Choose the correct sentence in each context.

a) You want to invite a friend to your party on Friday. You say:
1. | have a party on Friday. Do you want to come?
2. I'm having a party on Friday. Do you want to come?

b) You find a wallet on your desk and ask the people nearby:
1. Who does this wallet belong to?
2. Who is this wallet belonging to?

c) A friend invites you to a snack bar at lunch time. You say:
1.Thanks, but | always go home.
2. Thanks, but I'm always going home.

d) A friend opens the door and says: What are you doing? You reply:
1. 1 work as a secretary.
2. I'm repairing the computer.

e) A friend asks: Do you like lemon tea? You reply:
1. | prefer tea with milk.
2. I'm preferring tea with milk.

f) You haven't decided yet about buying a new bike. You say:
1. | think about it.
2. I'm thinking about it.

g) A friend asks you if you have finished the book she lent you. You say:
1. Sorry, | still read it.
2. Sorry, I'm still reading it.

h) Itis a hot day, but a friend has a heavy coat on. You ask:
1. Why are you wearing a heavy coat?
2. Why do you wear a heavy coat?

V. Choose the correct word or phrase underlined in each sentence.
1. That can't be right!(l don't believe / I'm not believing it!
2. Carol can't swim today. She has/is having a cold.
3. See you in the morning. | leave/I'm leaving now.
4. What do you do/are you doing? If you drop it, it will explode!
5. Stop doing that, Billy! You are /You are being very silly.




6. | drive/I'm driving! You can sit in the back with Martin.
7. What do we eat/are we eating this evening? I'm really hungry!
8. You're a great cook! This cake tastes/is tasting wonderful.
9. Where do you go/are you going? | haven't finished speaking to
you!
10. Chemistry is hard. | am not understanding/l don't understand it.

VI. Put each verb given into present simple or present continuous.

1. Ugh, don't show me that picture! | (hate) .../......hate....... spiders!

2. Who (you, go with)............... to the match on Saturday?

3. In the winter, what (you, wear)....................... ?

4.| can't stand horror films. | (think)............. they're really silly!

5. Diana (not, usually, sit) ........................next to Ellen.

6. Why (you, look at)............... me like that? Have | done something
wrong?

7. Excuse me, but (this bus, stop)....... outside the Post Office?

8. I(not take) ................. the bus to school today. My mother (give) ...

............. me a lift.

9. Don't worry about the cat. It (only eat)............. once a day.

10. | can't work out the answer, (you, know).~what it is?
11. What's the matter? Why (you, stare)at me like that?
12. Excuse me, but (you, speak) ... English? I'm looking for a hotel.

13. Helen (stay) ................. with her brother while her house is being
repaired.

14. You should go on a diet. (you, put) ...................... on weight.

15. (they, speak) ................... French or German? | can’t tell the difference.

VII. Choose the correct sentence, 1 or 2, in each mini-dialogue.
a) A: Can you come dancing tomorrow night?
B: 1) Sorry, I'll play basketball.
2) Sorry, I'm playing basketball.
b) A: What are your plans for the summer?
B: 1) Il spend a month in the mountains.
2) I'm going to spend a month in the mountains.
c) A: What do you think about the weather?
B: 1) It'll probably rain tomorrow.
2) It's raining tomorrow.
d) A: What about tomorrow at about 5.30.7
B: 1) OK, I'll see you then.
2) OK, I'm seeing you then.
e) A: Mary is buying a dog next week.
B: 1) Really? What is she going to call it? 2) Really ? What is
she calling it ?
f) A: It would be nice to see you next week.



B: 1) Are you doing anything on Wednesday ?
2) Will you do anything on Wednesday?

VIIl. Put the verb given into a form of will, going to or present
continuous. More than one answer may be possible.

1

. Have you heard the news? Harry (join) ...us.
. Sorry to keep you waiting. | (not be)......................long.
. According to the weather forecast, it (snow) tomorrow.

. I'm sorry | can't meet you tonight. | (go out) with my parents.

1
2
3
4
5. Careful! You (knock)................ that jug off the table!
6.
7
8
9
0

In fifty years' time, most people (probably ride) ....bicycles to work.

. Our teacher (give)................. us a test tomorrow.
1(g0) e to Manchester at the end of next week.
. Look out! You (hit).. ... that tree!

| think our team (probably win)....................cl, :

IX. Analyze the functions of the verb to be. Translate the sentences into
Russian:
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The results of the experiment are of great importance for our further work.
There are no chemical plants in ourtown.

The substance that we are speaking about is water.

We are to translate technical literature in the second year.

Technical progress is impossible without high quality materials.
Electronics is being used more and more throughout the industry.

The electron is a particle.

Our task is to finish the test by 7 o’clock.

Smoking is dangerous.

10. This scientific discovery was the result of six years research.
11. Our aim is to accomplish this task as soon as possible.
12. Their house is in the middle of the village.

Unit Il
Computers
Vocabulary Study
Word List
Nouns and noun phrases

1. application npuMeHeHue
2. approach noaxon, npuonuxeHune
3. circuitry SNEeKTpUYeckme Cxembl, KOMMOHOBKa

3MEeKTPUYECKON CXEeMbI

4. computation BblYMCIEHNE



5. condition ycnosue
6. creation co3gaHue
7. determination onpefernexHve, peweHue
8. efficiency 9(PPEeKTUBHOCTb
9. employment npMMeHeHne, UCrnosib3oBaHne
10. engineering TeXHUYEeCKne Haykun
sciences

11. field oTpacnb
12. information flow NoTOK MH(popmaLmn
13. objective uenb
14. possibility BO3MOXHOCTb
15. reliability HaOEeXHOCTb, MPOYHOCTb
16. sequence nocnenosartesibHOCTb
17. transmission nepegava
18. variety pa3Hoobpasune
19. view HamepeHue

Adjectives
1. complicated CITOXHbIN
2. great BENUK1n, 6onbLION
3. low-cost HWU3KOWN CTOMMOCTM
4. main rnaBHbIN, OCHOBHOW
5. modern COBPEMEHHbLIN
6. particular 0COOEHHbIN, 0COObIN
7. simple NpPOCTON
8. sufficient AOCTaTOYHbIN
9. wide LLINPOKUM

Verbs and verbal phrases
1. adopt npuHUMaThb, ycBamBaTtb
2. apply NPUMEHATb
3. base B6asnpoBaTb, OCHOBbIBATb
4. create co3faBaTb
5. design npegHasHavaTtb, MPOEKTUPOBaTb
6. employ ynoTpebnaTb, NPUMEHSATb, NCMONb30BaTb
7. express BblpaxaTb
8. fulfil BbINOJSTHATb, OCYLLECTBIATb
9. govern ynpaensTb, perynmpoBaTtb
10.lead BECTU
11.pave MOCTUTb, NPOKNaabIiBaTh
12.perform BbINOMHATL, OCYLLECTBNATb
13.require TpeboBaTb
14 .permit No3BONATb



15.solve pewaTtb, paspewaTtb (npobnemy)

16.utilize Mncnonb3oBaTb

17.work out COCTaBNATb, pa3pabaTtbiBaTb
Adverbs

1. easily nerko

2. entirely BCELeS1I0, COBEPLUEHHO

3. quite AO0BOSbHO, COBEPLUEHHO

4. rather JOCTaTOYHO, AOBOJIbHO

I. Read and translate the following words. Arrange them into the groups: a)
with one stress or stress on the first syllable; b) with the stress on the second
syllable; c) with two or more stresses.

Reliability, technique, govern, modern, computation, require, fulfil, logical,
sequence, subdivision, information, employment, objective, program,
process, automatic, possibility, importance, control, system, technical,
industrial, machine.

Il. Match the words on the left with the definitions on the right.

1) Objective a) mathematical calculation

2) computer b) what you are trying to achieve

3) technique c) an electronic machine that can quickly make
calculations, store information

4) computation d) a particular method of doing something

5) instructions e) clear and detailed information on how to do

something, especially written information

Ill. Choose:
a) a noun
1. a) provide; b) providing; c) provision; d) provided.

b) a verb
1. a) application; b) apply; c) applied; d) applicable.

C) an adjective
1. a) solve; b) solution; c)solvable; d) solved.

d) an adverb
1. a) widen; b) widely; c) wide; d) width.

IV. Define the meaning of the “x” words.
1. Produce: production = nponssoanTs: X.
2. Consider: consideration = paccmaTpuBaTb: X.
3. Include: inclusion = BknoyaTb: X.



Absorb: absorption =nornowartb: X.
Operate: operator = paboTaTtb:X.
Develop: development = pasBuBaThb:X.
Replace: replacement = 3aMeHATb:X.
Create: creature = co3gaBaTtb:X.
Differ: difference = pasnunuyartb:x.
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V. Make adjectives from the following nouns by adding the suffixes: - al, -ic, -
ous and translate them into Russian.

Industry, mathematics, logic, digit, arithmetics, atmosphere, metal, base,
electron, harmony, monotony, danger, fame, religion, courage.

VI. Arrange the words with similar meaning of the two groups in pairs.

1) entirely a) fulfil

2) create b) evolution

3) field c) employment

4) importance d) principal

5) objective e) significance

7) main f) purpose

8) development g) branch

9) application h) completely
10) perform i) produce

VIl. Match the words with their opposites, like the example:

easy hard
1) high a) before
2) possibility b) low
3) after c) difficult
4) new d) simple
5) easy e) the same
6) complicated f) old
7) different g) narrow
8) soon h) lately

VIII. Match the verbs from “a” with the nouns from “b”.
a) to transmit, to solve, to govern, to pave, to utilize, to fulfil, to develop, to
work out, to perform;
b) problems, information, the way, processes, the program, techniques,
operations, principles, the algorithms.

IX. Complete the sentences with the given words.
Are applied, systems, technical possibilities, programs, cybernetics,
objectives, engineering sciences, control algorithms, technical
cybernetics.



1. The computers have created entirely new ... ... .

2. The computers paved the way for a new field of science - ... .

3. The importance of cybernetics is great in the sphere of ... ... .

4. A newly developed field of knowledge is ... ... .

5. Its ... are to control automatic industrial processes.

6. One of the main problems of technical cybernetics is the development
of ... ...

7. The algorithms worked out for employment in control machines are
called....

8. Two ... of computers are now created for control computer design.
9. In our country both systems of control ... ... .

X. Translate into English.

1. KomnbroTepbl co3ganmu HOBble  TexHu4yeckue BO3MOXHOCTHU
aBTOMAaTMYECKOro KOHTPOJISA MPOMbILLSIEHHbIX MPOLIECCOB.

2. 3Ha4vyeHne KnbepHeTuKM BENKKO.

3. Uenbto TeXHUYECKOU KNbepHeTmKu ABNAeTCH KOHTPOSb
aBTOMaTMYECKUX NPOMBbILLSIEHHBIX MPOLECCOB.

4. MMporpamMmmbl — 3TO anropuTMbl, paspaboTaHHble ANs UCNOoNb30BaHUSA B
KOHTPOJSbHbIX MaLlnHax.

5. ONEeKTpPOHHbIE UundpoBsble KOMNbLIOTEPDI BbIMOMHAOT Kak
apudmeTudeckue, Tak 1 norm4eckne onepaummn.

6. KomnbioTepbl NO3BONSAT — YAPaBndATb npoueccamMn B LOBOJSIBHO
CINOXHbIX YCNOBUSX.

A. Text Study

Il. Look at the title. What do you think this reading will be about? Read the
text and define its main idea.

Text A
COMPUTERS AND CYBERNETICS

The computers or high-speed electronic machines of today have
created entirely new technical possibilities in automatic control of industrial
processes. First designed for solving mathematical problems, they soon
paved the way for a new field of science — cybernetics — that studies
general principles of control both in life and non-live systems. The importance
of cybernetics is great in the sphere of engineering sciences. A newly
developed field of knowledge is technical cybernetics. Its objectives are to



control automatic industrial processes, to study problems of transmission of
information and to develop new principles of automatic control.

One of the main problems of technical cybernetics is the development
of control algorithms to be used in processing and control of information
flows. The algorithms worked out for employment in control machines are
called programs. These are based on subdivision of the computation process
into simple arithmetical operations and on determination of the logical
operations to be performed with a view to fulfil the program which gives the
sequence of the machines and must be coded or expressed in the adopted
code systems.

Two systems of computers are now created for control computer
design.

One of these is the development of general-purpose control machines
that may have much wider application but require more complicated logical
circuitry and greater number of instructions and commands employed in the
computer. This approach permits control of a great variety of industrial units
with the aid of one and the same computer.

The second system utilizes modern microcomputer techniques to
develop special-purpose machines designed to control a particular process.
This leads to the creation of more easily operated and low-cost control
computers. Tests of some control computers manufactured for specific
industrial units have shown their efficiency and quite sufficient reliability.

In our country both systems of control are applied. Electronic digital
computers perform both arithmetical and logical operations, making it
possible to govern processes under rather complicated conditions.

Il. Read the text again carefully and answer the questions.
What possibilities have the computers created?

What does cybernetics study?

What are the objectives of technical cybernetics?
What is the main problem of technical cybernetics?
Where are control algorithms used?

What are programs?

What are programs based on?

. How many systems are now created for control computer design?
What can you say about the first system?

10. What does the second system utilize?

11. Where are both systems of control applied?

12. What do electronic digital computers perform?
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Ill. Which of the vocabulary units used in paragraphs 1-2 could be regarded
as international words (scientific terms)?



IV. Read the translation of the first and the second paragraphs. Compare it
with the original and say if everything is right.

TpeTtbs cucrtema ncnosnb3oBana COBPEMEHHYI0 TEXHOSOr1Io
MUKPOKOMNMbIOTEPOB AN pPasBUTUA MalUWHbl CreyuanbHOro HasHayeHus,
CKOHCTPYMPOBAHHOW AN KOHTPOMS 3a OTAeSfibHbIMW rnpoueccamu. 3ITO
npuBeno K Co34aHuto Jerko paboTarowero M [OOpPOroro  KOHTPOSIbHOro
KOMnbtoTepa. TecTbl KOHTPOMNbLHOrO KOMMbKOTEPA, W3rOTOBIEHHOIO ASS
cneumdunyeckoro NPOMbILLUITIEHHOIO npubopa, NnokKasblBaloT ero
3PP EKTUBHOCTb U HEQOCTATOUYHYIO HAOEXHOCTb.

B Hawen cTtpaHe NPUMEHANNCb BCE CUCTEMbl KOHTPOSS, 3NEeKTPOHHbIN
UMPOBON  KOMNBLIOTEP  BLINOSHAET apuMeTUdeckne U - florMyeckune
onepauuu, genarwLmne BO3MOXHbIM yNpaBnsaTb NPOLECCOM B CaMbIX NPOCTbIX
YCrOBUSIX.

V. Find the English equivalents of the following words and word combinations
in paragraph 4:

npumMmeHeHne, TpeboBaTb, CMNOXHbINM, KOMMOHOBKA 3FIEKTPUYECKON CXEMBbI,
noaxon, pasHoobpasune, NOMOLLb, YCTPOUCTBO;
in paragraph 5:

0COBEeHHbIN, co3gaHne, HU3Kasi CTOMMOCTb, eNCTBEHHOCTb, 4OCTaTOYHbIN,
HaOEeXHOCTb.

VI. Find passage about one of the main problems of technical cybernetics
and translate it into Russian.

VIl. Choose a passage and read it aloud (1-2 minutes).

VIIl. Find complex grammar structures in the text and divide them into simple
ones.

IX. Find out the subject-matter and the means of its secondary expression.
e.g. The children are hungry. Give them something to eat.

X. Find key words, phrases and the topic sentences which express the
general meaning of each paragraph best of all.

Xl. Using the information obtained from the paragraphs make a plan of the
text.

Xll. Speak about computers, technical cybernetics using key words, phrases,
the topic sentences and the plan of the text.



B. Text Study

. Look at the title of the text. Make your predictions about the content of it.
Read the text and answer the questions.

a. What applications of computers do you know?

b. Where else may computers be used?

c. How does an ordinary computer operate?

d. What types of computers do you know?

Text B
COMPUTERS CONCERN YOU

When Ch. Babbage, a professor of mathematics at Cambridge
University, invented the first calculating machine in 1812 he could hardly have
imagined the situations we find ourselves in today. Almost everything in
modern world is done with the help of computers — the complicated
descendants of his simple machine. Computers are being used more and
more extensively in the world today, for the simple reason that they are far
more efficient than human beings. They have much better memories and can
store great amount of information and they can do calculations in a fraction of
the time required by a human mathematician. No man alive can do 500,000
sums in one second, but a modern computer can.

In fact, computers can do many things we do, but faster and better.
They can control machines ‘at factories, work out tomorrow’s weather and
even play chess, write poetry or compose music. Let's look now at some of
the ways in which computers concern people in their daily lives and work.

Many people associate computers with the world of science and
mathematics, but they are also a great help to scholars in other subjects: in
history, literature and so on. It is now possible for a scholar to find a book or
an article he needs very quickly, which nowadays when a million or more new
books are published each year is quite an advantage. You tell the computer
which subject you are interested in and it produces any microfiche you need
in seconds.

There are also systems which are being developed to translate articles
from foreign magazines by computer and to make up many lists of
information which are needed in a modern library. So, computer can help us
to deal with the knowledge explosion in many ways. One can imagine a time
when libraries will be run by computers, without human being at all.

Or, let’'s take another example. When a man drives a car for long
distances he has two problems: to keep the car at constant speed and watch
that he does not run into the car in front of him. Engineers are now
experimenting with a system which has a computer control of these two



problems. The car's computer keeps the speed constant. At the same time
the distance between the car and any other car in front of it is measured by a
beam of light transmitted forwards. The beam meets the rear reflectors of the
car in front and it is reflected back, which enables to measure the distance.
This information is fed to the computer which adjusts (perynupoBatb) its
speed control accordingly.

Il.  Read the text and define whether the following statements are true or
false.
1. Charles Babbage invented the first calculating machine in the 18"
century.
2. Computers play a very important role in modern life.
3. Computers are less efficient than human beings.
4. Computers can store great amount of information.
5. It's impossible to imagine a time when libraries will be run by
computers, without human beings at all.

Ill.  Expand the sentences.
1. Ch. Babbage invented the first calculating machine.
Almost everything in modern world is done with the help of computers.
Computers do many things.
Computers are also a great help to scholars.
The car’'s computer adjusts its speed control accordingly.
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IV. Now decide which of the following statements express important ideas or
supporting details for this reading.
1. a)Everything in modern world is done with the help of computers.
b) Computers are being used more extensively in engineering.
c) Computers have a very good memory.
2. a) Computers are able to do many things.
b) Computers can control machines at factories, play chess, compose
music.
c) Computers concern people in their life and work.
3. _a) Computers are associated with the world of science.
b) Computers help scholars in different subjects.
c) Computers can help you to find a book or an article you need.

V. Find the words — carriers of the primary and the secondary information in
paragraph 1.
VI. Define the function of commas in paragraph 3, 5.
VII. Find out the means of connection between clauses, parts of the sentence
and sentences.
VIIl. Arrange the sentences in the logical order according to the text.
A. Computers help people to study.



B. The creator of the first calculating machine couldn’'t predict its
significance.

C. Computers help drivers.

D. The possibilities of computer are unlimited.

E. Computers are widely used in our everyday life.

IX. Give the main points of the text in 4-5 sentences.
C. Text Study

. Translate the text into Russian.
Text C

HARNESSING THE SPEED OF LIGHT

When the American scientist Alan Huang revealed his plants to build an
optical computer, most scientists considered this idea as hopeless. It was
impractical, if not possible, they said, to create a general-purpose computer
that could use pulses of light rather than electrical signals to process data.
During one of the scientist’s lectures on the subject, a third of the audience
walked out. At another one, some of the scientists laughed, calling the
researcher a dreamer.

That was several years ago. Now the scientist demonstrated his
experimental computing machine based on optics. It look him five years to
develop it. The device — a collection of lasers, lenses and prisms — can serve
as the basis for future optical computers 100 to 1,000 times as powerful as
today’s most advanced supercomputers. The potential applications are
remarkable: robots that can see, computers that can design aircraft,
processors that can convert spoken words into written text and vice versa.
Such practical optical computers are still years away — some would say light-
years.

Yet many scientists are predicting that the device will have an impact
similar to that of the integrated circuit which made small personal computers
possible.

Photons, the basic unit of light beams, can in theory be much better
than electrons for moving signals through a computer. First of all, photons
can travel about the times as fast as electrons. And while electrons react with
one another, beams of photons, which have no mass or charge, can cross
through one another without interference. Thus, photons can move in free
space. This could open the door to radically new and different computer
designs, including so-called parallel processor that could work on more than
one problem at a time instead of one after another, as today’s new generation
computers do.



Grammar Study
BpemeHa rpynnel Continuous

BpemeHa rpynnol Continuous  obpa3sytoTce C  MOMOLUBIO
BCNomoraTtensbHoro rnarona to be B COOTBETCTBYIOLIEM BpPEMEHU, nuLe U
yucne n npudactma |, T.e. no gopmyne to be + Participle | (ing).

The Continuous (Active)

Present Past Future
yTBepaun- | | am writing l, he, she, it was |, we shall be
TeénvHas | he, she, it is writing | writing writing
dopma

we, you, they are |we, you, they were he, she, it, we, you,
writing writing they  will be
writing
Bonpocu- | Am | writing? was |, he, she, it Shall |, we
TeNnbHas | |s  he, she, it writing? be writing?

PopMa | \yriting?
were we, you, they Will  he, she, it

Are we, you, they writing? we, you, they be
writing? writing
Otpuua- | | am not writing |, he, she, it wasnot |l, we shall not be
TeénbHas | he, she, it is not writing writing

®opMa | \yriting
we, you, they were | he, she, it, we, you,

we, you, they are | notwriting they  will be not
not writing writing

BpemeHa rpynnbl  Continuous ynoTpebnawTca Ans  BblpaXKeHUs
AEeNCTBUSA, NMPOUCXOOSALLEro B KakoW-TO orpeferieHHbli MOMEHT BPEMEHUN B
HacTosiwem . npowepwem ©n  byayuilem.  OTOT  MOMEHT  MOXeT
nogpasymeBaTbCs W3 KOHTEKCTa WKW MOXeT OblTb 0603HadYeH nunbo
KOHKPETHbIM YKasdaHneM Ha BpeMs, Hanpumep: B 10 yacos, nnbo ykaszaHnem
Ha Opyroe oAHOKpaTHOe AeUCTBWEe, Hanpumep: Korga Mbl BOLNMW; KOrga Mbl
BEPHYNUCbL U T.A.

B Present Continuous MOMeHT MOXeT ObITb BblpaXkeH CrnoBaMm NOw
cenvac, at the moment B atot momeHT. Hanpumep,

They are doing grammar exercises  OHu genatT rpammMmaTudeckme

NOw. ynpaxHeHus cenyac.

They were doing grammar exercises OHu genanu rpammMaTnyeckme

when he came in. ynpaxHeHus, korga oH BOLUen.
They will be doing grammar OHn ByayT genatb rpammaTmyeckmne
exercises at 10 o’clock tomorrow. ynpaxHeHus 3aBTpa B LeCATb

4acCoB.




[naronsbl, Bbipaxatowwmne yyscTtea: to love (nobuTb), to like (HpaBuTbLCSA),
to hate (HeHaBumgeTb) u T.n., BOCnpusATMA: to see (Buaetb), to hear
(cnbiwarte), to feel (4yBcTBOBaTHL), t0 kNnow (3HaThb), to remember (MOMHUTB),
to understand (MoHuUMaTb) M T. N., a Takke rnarosnbl to belong
(npuHagnexatsb), to contain (cogepxatb), to consist (cocToAaTh), to possess
(obnapatb), kak npasuno, B ¢dopme  Continuous He ynoTpebnsatoTcs,
Hanpumep,

Thank you, | feel much better now. — bnarogapto Bac, a 4yBcTByl0 cebs
ropasgo nyuule.

Ha pycckun 6a3blk BpemeHa rpynnbl  Continuous nepeBoasaTcs
rnaroriamm HeCOBEpPLUEHHOrO B1aa HacToswero, npowegwero nnu éyayuiero
BpemeHu. [AnuTenbHbIA XxapakTep OeNCTBUSA nepegaeTcs crnoBamMu cenyac, B

AAaHHbIN MOMEHT, B 9TO BpeEMSA U T. A.:
You can talk to him. He is not working.

He was getting ready for his final exams
when | came in.

She will be working at her article at that
time tomorrow.

Bbl MoxxeTe noroBoputb C HUM. OH He
paboTaeT B AaHHbIA MOMEHT.

OH roToBuICS K BbIMYCKHbIM 3K3aMeHaM,
Korga s npuvwlen.

3aBTpa B 310 BpeMs OHa byaeT paboTtaTtb
Ha[ CBOeW CTaTbewn.

The Continuous (The Passive)

To be + being + Participle Il

Present I am
he, she,it + is being written
we, you, they are

Past I
he, she, it + was being written

we, you, they  wer

B ctpagaTtenbHom 3anore Future Continuous He ynotpebnseTcs. Tpu
crnocoba nepeBoja cTpagaTenbHOro 3anora cnpasenviebl U ANs nepesoaa
BpeMeH rpynnbl Continuous, HO NocneaHWe NepeBoaATCS rnarosiom
HecoBepLUeHHOro Buga, Hanpumep: Kuury yntarot. — The book is being read.

maron to have (to have — had — had)

CuHTakcu4yeckast pyHKUNS U 3HaYeHne

[Mpumep 1 nepesos

1. CMbICNOBOW rNarosi CoO 3Ha4YeHNeM
«MMETbY, «0bnagatb» (Nnepen MMeHeM
CYLLECTBUTENbHbIM, YACTTUTENbHbIM,
MECTOUMEHNEM)

Now Belarus has many educational
establishments.

Cenvac B benapycu nmeetcsa MHOro
y4eOHbIX 3aBeEHUN.

2. BcnomoratenbHbIv rnaron ans
obpa3oBaHus BpemeH Perfect (nepea
npuyacTMem npoLleawero BpeMeHu)

Many years have passed since the day
when radio was invented. Npowwno mHoro
neT ¢ Tex nop, Kak 6b1no n3obpeTeHo
pagvo.

3. DKkBMBaneHThl MOAarbHOIO rnarosia B
3HaYeHUM JOMKEHCTBOBaHNA (nepes
MH(*)I/IHI/ITMBOM CMbICJ10OBOrIo rnarosfa c
yacTtmuen «to»

He had to make a lot of experiments. Emy
MPULLINOCh NPOBOANTbL MHOIO
9KCMEPUMEHTOB.




I. Explain the use of Continuous Tense in the following sentences. Translate
the sentences into Russian.
1. I am at my English lesson. | am sitting and doing my exercises. My
friend is not sitting, he is standing at the blackboard and looking at me.
2. It is getting cold now, isn’t it? Look out. Is it raining now?
3. You are late. What were you doing? | was translating a text.
4. When | came home my parents were having supper and at the same
time they were watching TV.
5. What was he doing when | rang up an hour ago? He was looking
through a newspaper when | rang up.
6. Tomorrow we shall be preparing for a test for the whole evening.
7. In July they will be taking their exams for the whole month.

Il. Choose the right form of the verb in brackets.
1. We (are translating, translate) a technical text now.
2. We usually (are not translating, do not translate) stories.
3. She (does not look, is not looking) through all the newspapers every
evening.
4. He (looked, was looking) through a newspaper when the telephone
rang.
5. What (were, was) you doing a minute ago? | (was watching, watched)
television.
6. | (watch, am watching) television every day.
7. | had a late night, | (worked, was working) until midnight.
8. Yesterday he (worked, was working) a lot.
9. The students (had, were having) an interesting discussion when the
teacher came in.
Ill. Define the functions of the verb to have in the following sentences.
Translate them.
1. Cosmic television has a great future.
. He had to work hard to complete his investigation on time.
The engineer will have to improve the accuracy of this machine-tool.
A new method has been used in order to investigate this problem.
| have to do this work now.
Our planet has powerful sources of energy.
You will have to go to the library to get this book.
We’ve got a new teacher.
She will have many new subjects next term.
10.They have already passed the examination in electrical engineering.
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IV. Choose the correct variant.
a) While | washed/was washing my hair, the phone
rang/ringed.




b) How did you felt/did you feel yesterday afternoon?

c) When | reached/was reaching home | received/was
receiving David’s phone call.

d) Last summer | was going swimming/went swimming every
weekend.

e) When the dog bit/was biting Laura’s leg, she
screamed/was screaming.

f) We sang/sung some songs and then ate/eat some
sandwiches.

g) When you fell/felt over the cliff, what happened/was

happening next?
h) While Mary washed up/was washing up, she broke/was

breaking a cup.

i) | didn’t see/didn’t saw where the bus-stop was, so | was
missing/missed the bus.

j) What did you do/were you doing when | phoned/was
phoning you last night? There was no reply.

V. Complete the sentences with the given words and phrases.

| ago in lastweek at  when .  while |
a) Two burglars broke into the house while we were watching television.
b) ...... | met an old friend of mine in the city center.
c) What were you doing ...... the police officer knocked on the door?
d) Jan met Sarah ...... half-past eight outside the cinema.
e) ..... Dick was preparing lunch, he cut his finger badly.
f) | first came to this town more than twenty years .......
g) Jim was studying to be a doctor ...... he met Sally.
h) Tony bought his first motorbike ...... 1992.
1) ... did you start playing basketball?
j) Most of the young people left this village a long time .......

VI. Put verbs into past simple or past continuos.
a) When Harry (wake up) woke up, we (tell) told him the good news.

b) Where (you leave) ...... your wallet when you (go) ...... swimming?

c) Everyone (walit) ...... for the concert to begin when a message (arrive)

d) When Tom (finish) ...... his letter, he (take) ...... it to the post office.

e) Pam (want) ...... a relaxing holiday, so she (choose) ...... to stay on a
small island.

f) When I (study) ...... abroad, my parents (phone) ...... me every week.

g) | (find) ...... my lost pen while | (look for) ...... my pencil sharpener.

h) Ann (watch) ...... television when Julie (arrive) .......

i) When the lights (go out) ...... , 1 (lie) ...... in bed reading.



a) When we had ate lunch, we were sitting in the garden.

When we had eaten lunch, we sat in the garden.
b) While | looked for my keys, | remembered | left them at home.
c) Anna had used to play badminton when she had been at school.
d) When | got into bed, | was falling asleep immediately.
e) When | was finally finding the house, | was knocking at the door.
f) After Jill was giving Nick his books, she went home.
g) Maria would live in Sweden when she was a child.
h) | was using to get up early when | had gone sailing.
i) The Vikings had sailed to North America a thousand years ago.
j) Sue was sure she was seeing the tall man before.

Unit 1l
Communication
Vocabulary Study

Word List
Nouns and noun phrases
1. apparatus - ~ annapart, npmnbop, annapartypa
2. application - MpUMeHeHune
3. border - rpaHuua
4. break - NpopbIB
5. cell - (bwon.) kneTka, s4yerka, coTa; (an.)
3NIEMEHT

6. communication - CB43b

cellular communication - CcOTOBas CBA3b

video communication - BWAOEOCBA3b
7. conception - MNOHATUE; NOHMMaHne
8. data - [aHHble, hakTa, HhopmMauus
9. device - YCTPOWCTBO
10. exhibition - BbICTaBKa
11. housewife - JOMOXO035aMKa
12. Internet - WHTepHeT, BCeMupHas

NHOPMaLIMOHHAs CeTb

mobile Internet - MOBUNbHLIN IHTEPHET
13. Kilobit - KMnoowut
14. “know-how” - “Hoy-xay”, - cnocob nepenoBown

TEXHONOrMmn



15.

16.

17.
18.
19.
20.

21.
22,
23.
24,
25.
26.
27.

28.
29.

30.
31.

0.

language

electronic language

Internet language
mail

electronic mail (e-mail)

mankind
message
megabit
net

video communication net

receiver

ring
local ring
speed
sense
sphere

subscriber
tendency
trade

user

web
World Wide Web

Adjectives

accessible
cellular
€normous
electronic
Impossible

local
main
mobile
ordinary
wide

- A3blK

- 3IIEKTPOHHbLIN A3bIK

- 43blK IHTepHeTa

- noyTa

- 9NEeKTpPOHHas noyTa

- YenoBeYyecTBO

- coobLlieHne

- Merabut

- CeTb; NayTuHa

- CeTb BUAEOCBA3N

- TenedoHHasa TpyoKa;

- paguonpueMHuK; nonyyartenb

- 3BOHOK

- MECTHbIN 3BOHOK

- CKOpPOCTb

- YyBCTBO, OLlyLleHne

- obnacTb, none OEeATENbHOCTH,
chepa

- aboHeHT

- TeHAaeHuus

- TOproens

- < Nnuo, ocyulecTensoLwee

= MOfb30oBaHue (nonb3oBaTenb);
notpedutenns

- CceTb; NayTuHa

- BCeMupHasi MHpopMaLUMOHHas ceTb

OOCTYMNHbIW, JOCTMXKUMbIN
COTOBbIN

rpomMagHbIN, OrPOMHbIN
SJIEKTPOHHbLIN

HEBO3MOXHbIW, HEBbLIMOJTHUMBbIN,
HEBEPOATHbIN

MECTHbIN

rMaBHbIA, OCHOBHOW
MOBOUNbHbLIN; NepeaBMKHON
OObIYHbIN

LLUINPOKNIA; 6ONbLLIOW, OBLLUMPHbLIN



Verbs

1. book 3akasblBaTb (6buner)

2. carry out BbINOMHUTb, NPOBOAUTb, OCYLLECTBIIATb

3. compare with CcpaBHMBaTb C

4. cost CTOUTb

5. create co3faaBaTb

6. expose BbICTaBMATb

7. link CBA3bIBATD, COEeUNHATDL; ObITb
CBSA3aHHbIM

8. obtain nofnyyaTtb; gocTuratb, 4obmnBaTbCS

9. transmit nepegasaTb; OTNPaBnATb, MOCbINAaTh;
(pagmo, TnB. TpaHCNMpoOBaThb)

10. use ynoTpebnsaTb, NoNb30BaTbCS,
NPUMEHSATb

11. work out pa3pabartbiBaTb

Adverbs
1. all BCELeS10, BMNOJSIHE; COBEpPLUEHHO
all over NnoBcloAy, Kpyrom
all over the world no BCEMY  CBeTY; COBEpLUEHHO,

NOSIHOCTLIO

2. especially 0CODEHHO, rMaBHbIM 06pa3om

3. even naxe

4. nowadays B Halle BpeMs; Tenepb

I. Read and translate the following words. Arrange them into the groups: a)
with one stress or stress on the first syllable; b) with the stress on the
second syllable; c) with two or more stresses.

Problem, television, compare, conception, user, mobile, ticket, tendency,
message, communication, nowadays, apparatus, mankind, operation,
technology, Internet, application, cellular, enormous, expose, exhibition,
ordinary, telephone, device, different, wireless, transmit, electronic.

Il. Match the words on the left with the definitions on the right.

1) telephone a) information, usually in the form of facts or statistics.

2) bit b) a system that lets you send a message directly from
your computer to someone else’s computer.

3) television c) some kind of specialized knowledge.

4) mega- d) available for people to use or see.

5) e-mail e) the practical application of scientific knowledge,

especially in the form of advanced scientific methods
and equipment.

6) apparatus f) the system of sending pictures and sounds by
electrical signals over a distance so people can



receive them in their homes.
g) the equipment needed for some task or activity.

7) technology h) an electrical system you use to talk to someone in
8) accessible another place by dialing a number on a piece of
equipment and speaking into it.

i) a piece of information or a request which you send to

9) data someone, or leave for them.
j) the smallest unit of information held in a computer’s
10) know-how memory.
k) At the beginning of a unit of measurement means it is
11) message a million times greater than another unit.
Ill. Choose:
a noun
1. a) communicative; b) communicate; ¢) communication.
2. a) receiver; b) receive; c) receivable.
3. a) use; b) user; c) useful.
4. a) conception; b) conceptual; ¢) conceptualize.

a verb

a) transmit; b) transmission; c) transmitter.
a) creation; b) creative; c) create.

a) subscription; b) subscriber; ¢) subscribe.
a) operational; b) operate; c) operation.

©NO O

an adjective
9. a) different; b) differentiate; c) differently.
10. a) mobility; b) mobilize; ¢) mobile.
11. a) electronic; b) electron; c) electronics.
12. a) mainframe; b) main; c) mainly.
13. a) cellular; b) cell; c) cellule.

an adverb
14. a) especial; b) especially.
15. a) enormously; b) enormousness; ¢) enormous.
16. a) high; b) highly; c) highness.
17. a) ordinarily; b) ordinary.
IV. Define the meaning of the “x” words. Improve: improvement =
=ynydwams: X. (ef1a20/1.; cyuwecmaeumeribHoe)
Communicate: communication = x: coobLieHne
Create: creation = cosgaBaTb: X
Receive: receiver = npuHumaTtb: X
Exhibit: exhibition = x: BbiICTaBka
Use: user = x: nonb3oBaTenb

abkhwn =



6. Subscribe: subscription = nognucbiBaTbCs: X
7. Expose: exposition = BbICTaBNATb: X

8. Transmit: transmitter = x: nepegaTymk

9. Tend: tendency = mMeTb TeHAEHUMIO: X

V. Make adjectives from the following nouns by adding the suffixes: -al,
ical, -y, -less, -ible, -ic, -ful, -able and translate them into Russian.
Technology, electron, operation, speed, sphere, voice, help, theatre,
sense, break.
VI. Arrange the words with similar meaning of the two groups in pairs.

1) communication a) portable

2) enormous b) exposition

3) mankind c) frontier

4) mobile d) huge

5) conception e) field, area

6) exhibition f) usual, standard

7) trade g) rapidity

8) sphere h) contact; transmission
9) device i) trend

10) ordinary j) commerce

11) border k) humanity

12) tendency ) idea

13) speed m) at the present time
14) nowadays n) net

15) web 0) implement

VIl. Match the words with their opposites, like the example:

dirty clean
a) ordinary 1) destroy
b) obtain 2) static
C) create 3) tiny
d) different 4) business
e) mobile 5) narrow
f) impossible 6) lose
g) non-business 7) unusual
h) main 8) possible
i) enormous 9) similar, ordinary
j) wide 10) minor

VIll. Match the verbs from “a” with the nouns from “b”
a) transmit b) devices
book bank operations



IX.

INEAN N

o u

8
9

expose net

obtain Internet

create electronic language
carry out tickets

cost telephone receiver
use data

work out ring

be linked with speed

Complete the sentences with the words given below.

. Most devices of ... communications will be exposed as an Internet

language.

. Mobile Internet is the main ... .
. By the year 2001 more than a half ... of mobile nets will use WAP.

In the West millions of ... people, even housewives have two or three
apparatus of cellular communication.

. The speed of ... transmitting is the main problem nowadays.

By the year 2004 there will be 120 million users of ... Internet and every
fourth user will do it with the help of cellular ... for working in the W.W.W.

. World Wide ... is the system that stores information for computer users

around the world to use.

.Mobile ... and mobile ... are impossible without speed.
. Telephone, television, cellular .communication and W.W.W. create an

enormous ... for mankind.

10.The ... mail, voice message, trade, bank operations will be carried out

X.

—

@ N

with the help of an electronic language.

Video, subscribers, Internet, data, electronic, “know-how” non-business,
web, mobile, communication, net, cellular.

Translate into English.

. Ha 3anage munnunoHbl HegenoBbIX NOAen N gaxe JOMOXO3SINKU UMEIOT

annapaTbl COTOBOW CBSA3W.

MoObunbHbIn IHTEPHET HEBO3MOXEH 6€3 CKOPOCTH.

CkopoCTb nepefayM OaHHbIX  4BMSIETCA  [NaBHOM  npobnemon
CErofHsLWHero aHs.

Ncnonb3ys NHTepHeT, yenoBeyecTBO ByaeT MMeTb COTOBYHO rOfTOCOBYHO
N BMOEOCBA3b MO BCEMY MWUPY, U CTOUTb OHa OyaeT He Bonblue, Yyem
MECTHbIN TeNedOHHbIN 3BOHOK.

PasnnyHble 6aHKOBCKME yCryru, MOKynku, 3aka3 dunetoB Ha Bce BUAbl
TpaHcnopTa, B TeaTpbl N Ha BbICTaBKN ByayT OOCTYMNHbI B Nitoboe Bpems
n B nobom mecre.

3 3ne|<Tp0HHas=| no4yTa, rofnocosblie COO6LLI,€HI/IF|, TOproBblie ” OaHKkoBCcKune

onepauum dyayT OCyLLEeCTBNATLCS C MOMOLLBI MHTEPHETOBCKOTO SA3bIKa.



7. K 2001 rogy 6onee nonoBuHbl aboOHEHTOB MOOWMbHLIX ceTen OyayT
MCNONb30BaTb 3NIEKTPOHHLIN A3bIK, pa3paboTaHHbIA chneumansHO Ang
MobunbHoro MIHTepHeTa.

A. Text Study

I. Look at the title (and the pictures). What do you think this reading will be
about? Read the text and define its main idea.

Text A
CELLULAR COMMUNICATION AND MOBILE INTERNET

Telephone, television, cellular communication and W. W. W. (World
Wide Web — Internet) — all these are different conceptions creating an
enormous net for mankind.

Mobile Internet is the main "know-how"; it is a break into and out of the
borders.

In the West millions of non-business people, even housewives have two
or three apparatus of cellular communication.

Speed is the main problem of today in that sphere of technology, which
is linked in our sense with an ordinary telephone receiver.

Mobile Internet and mobile video are impossible without speed, as the
speed of data transmitting is the main problem nowadays.

By the year 2004 there will be 120 million users of Mobile Internet and
every fourth user will do it with the help of cellular communication for working
in the W. W. W. Different services of banks, shopping, booking tickets for all
kinds of transport, for cinemas, exhibitions, theatres — all these will be
accessible at any time and place.

By the year 2001 more than a half subscribers of mobile nets will use
WAP (Wireless Application Protocol) — it is an electronic language worked
out especially for the Mobile Internet.

Most devices of cellular communications will be exposed as an Internet
Language.

The electronic mail, voice messages, trade, bank operations, etc. will be
carried out with their help.

With the help of high technology there is a tendency to obtain the speed
of 11 megabits per second, comparing with the speed of 9,8 kilobits
nowadays.

Using Internet mankind will have cellular voice and video
communication nets all over the world, and its ring will cost no more than a
local ring.



Il. Read the text again carefully and answer the questions.

1. What conceptions create an enormous net for mankind?

2. What main “know-how” is a break into and out of the borders?

3. What people have apparatus of cellular communication?

4. What are Mobile Internet and mobile video impossible without?

5. What is the main problem of today in that sphere of technology, which is
linked in our sense with an ordinary telephone receiver?

6. What is W.W.W.?

7. What communication will be used by users of Mobile Internet for working
in the W.W.W. by the year 20047

8. What services will be accessible at any time and place?

9. When will more than a half subscribers of mobile nets use WAP?

10.What speed can be obtained with the help of high technology?

11.What will mankind have using Internet?

Ill. Which of the vocabulary units used in paragraphs 1-5 could be regarded
as international words?

IV. Read the translation of the third and fourth paragraphs. Compare it with
the original and say if everything is right.

Ha BocToke MnnnnoHbl JenoBbIX N0AeN, a He JOMOXO03sieK, UMEIOT Mo ABa
W TpW annaparta COTOBOW CBA3MN.

CkopocTb B HawuM OHUM He npobnema B ToW 0obOnactu TEXHUKKU, KOoTopas
cBsA3aHa ¢ BOCNpUSATUEM OObIYHOrO pagnonpuemMHumka.

V. Find the English equivalents of the following words and word combinations
in paragraphs 4, 5 and 6.

O6nactb TexHUKK, 0BblMHas TenedoHHas Tpybka, MOBUNbHbIN MHTEpHET,
CKOpPOCTb fnepefayv AaHHbIX, rnaBHas npobnema, nonb3oBaTernb, COTOBad
CBs3b, BCEMMPHaa MHPOPMaLMOHHAs CETb, pa3fiMyHble BaHKOBCKME YCRyrH,
3aka3 buneTos, ObITb AOCTYMHbLIM B Nt060E BpeMS, B HALLW OHW.

VI. Find a passage about WAP and translate it info Russian.

VIl. Choose two passages and read them aloud (1-2 minutes).

VIl Find complex grammar structures in the text and divide them into simple
ones.

IX. Find out the subject-matter and the means of its secondary expression.
e.g. Take the book from the table and put it into your bag.

X. Find key words, phrases and the topic sentences which express the
general meaning of each paragraph best of all.

Xl. Using the information obtained from the paragraphs make a plan of the
text.

Xll. Speak about cellular communication and Mobile Internet using key words,
phrases, the topic sentences and the plan of the text.



B. Text Study

I. Look at the title of the text. Make your predictions about the content of it.
Read the text and answer the questions:

a. What is Facsimile Transmission?

b. When did Facsimile machines come into use?

c. Can personal computers imitate the operation of fax machines?

Text B
FACSIMILE TRANSMISSION

Facsimile Transmission is a communication system that copies, sends,
and receives documents by way of telephone lines. Also called faxing, this
method of communication allows people to share exact copies of important
papers by duplicating and sending them on one end, and then receiving and
reproducing them on the other.

Facsimile machines came into use in the early 20" century when
newspaper companies began using them to transmit photographs between
branch offices. By the mid-1980s use of desktop facsimile machines had
become commonplace for business and personal correspondence throughout
the world. Since the 1990s many people have used personal computers to
send and receive facsimile transmissions, or faxes, eliminating the need for a
separate facsimile machine. In_the latter half of the decade, Internet fax
services grew increasingly popular. These services provide the ability to
receive faxes to anyone who has Internet access.

Personal computers can imitate the operation of fax machines.
Computer-based faxing enables people to transmit electronic computer files
as faxes to another computer or to a conventional fax machine.

To send and receive facsimile transmissions, a computer must be
equipped with faxing software and a fax modem, and it must be connected to
a telephone line. The faxing software prompts the computer user to enter the
fax number of the receiving computer or fax machine. The software
compresses the file so it can be transmitted more efficiently, and then sends it
to the fax modem. The modem converts digital computer files into analog
signals so they can travel via telephone lines.

The fax modem of the receiving computer reconverts the analog
telephone signal into a digital computer file. The faxing software on the
receiving machine decompresses the file, and then notifies the computer user
that a fax has been received. The receiver may choose to either view the fax
in its electronic format or print it.



Il. Read the text and define whether the following statements are true or false.

1. Facsimile Transmission allows people to share exact copies of important
papers by duplicating and sending them on one end, and then receiving
and reproducing them on the other.

. Facsimile machines came into use 20 years ago.

. Since the 1990s few people have used personal computers to send and
receive facsimile transmissions.

. Personal computers can imitate the operation of fax machines.

. To send and receive facsimile transmissions, a computer must be
connected to a telephone line and doesn’t need any additional equipment.

w N
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lll. Expand the sentences.

1. Facsimile Transmission is a communication system that copies, sends and
receives documents by way of ... .

2. Also called faxing, this method of communication allows people to share
exact copies of important papers by ... .

3. Facsimile machines came into use in the early 20™ century when ... .

4. By the mid-1980s use of desktop facsimile machines had become
commonplace for ... .

5. Since the 1990s many people have used personal computers to send and
receive facsimile transmissions, or faxes, eliminating ... .

6. These services provide the ability to receive faxes to anyone who ... .

7. Personal computers can imitate ...".

8. To send and receive facsimile transmissions, a computer must be
equipped with ... .

9. The modem converts digital computer files into ... .

10. The fax modem of the receiving computer reconverts the analog
telephone signal into ... .

IV. Now decide which of the following statements express important ideas or
supporting details for this reading.
1. a) Faxing allows people to share exact copies of important papers.
b) Faxing duplicates and sends documents on one end, and then on the
other.
c) Facsimile Transmission, also called faxing, is a communication system
that copies, sends, and receives documents by way of telephone lines.

2. a) Facsimile machines came into use in the early 20™ century.

b) Since the 1990s many people have used personal computers to send
and receive facsimile transmissions, or faxes.

c) Nowadays Internet fax services provide the ability to send and receive
faxes to anyone who has Internet access, eliminating the need for a separate
facsimile machine.



3. a) To send and receive facsimile transmissions, a computer must be
equipped with faxing software and a fax modem, and it must be connected
to a telephone line.

b) The software compresses the file and then send it to the fax modem.
c) The modem converts digital computer files into analog signals so they
can travel via telephone lines.

4. a) The fax modem of the receiving computer reconverts the analog
telephone signal into a digital computer file.
b) The faxing software on the receiving machine decompresses the file,
and then notifies the computer user that a fax has been received.
c) The receiver may choose to either view the fax in its electronic format
or print it.

V. Find the words — carriers of the primary and the secondary information in
paragraph 1.

VI. Define the function of commas in paragraph 2.

VIl Find out the means of connection between clauses, parts of the sentence
and sentences.

Vill.Arrange the sentences in the logical order according to the text.
1. Personal computers can imitate the operation of fax machines.
2. Faxing allows people to share exact copies of important papers by
duplicating and sending them on one end, and then receiving and
reproducing them on the other.
3. The receiver may choose to either view the fax in its electronic format or
print it.
4. Computer — based faxing enables people to transmit electronic computer
files as faxes to another computer or to a conventional fax machine.
5. Since the 1990s many people have used personal computers to send and
receive facsimile transmissions, or faxes, eliminating the need for a separate
facsimile machine.

IX. Give the main points of the text in 4-5 sentences.



C. Text Study
|. Translate the text into Russian.
Text C
TALKING VIA SPACE

Communication has come a long way from the time when an Indian
beat a drum in the forest to the time when a scientist receives messages from
a satellite. In this space age communication has become a highly developed
field. The system of communication in large countries is unthinkable today
without space satellites. Besides large distances, there is a great time
difference: the territories of some countries comprise up to 11 zones.
Satellites help to minimize all the difficulties that may appear. They rapidly
transmit TV and radio programs to different towns, cities, and distant areas.

Space systems and electronic technology have made it possible to set
up an automatic system of communication designed for rapid transmission of
all kinds of information.

People write letters and send telegrams. But at the same time people
living in various cities like to exchange news on the telephone. Statistics
reports that the number of long-distance telephone calls is about 2,000 million
per year. A person in Moscow talking on the phone with Vladivostok must
know that this conversation is carried on through a satellite.

Trains and cars can use mobile radio telephones to make calls.
Businessmen can use teletypewriters to send messages via telephone lines
to other teletypewriters in another city which automatically print them as they
are received. Even photographs can be sent over telephone wires.

Practically all the population in large countries can watch TV programs
via satellites. The orbital communication systems make it possible for people
from different continents to see and hear one another.

The importance of space means of communication is increasing every
year. The - communication satellites of the international organization
“‘INTERSAT” enable people to keep reliable telephone, telegraph and telex
communication in any weather with ships practically in every part of the World
Ocean.

Grammar Study

BpemeHa rpynnbl Perfect

"pynna coBepLUEHHbIX BpeMéEH (Perfect Tenses) o6o3HavaeT, 4To
AEeNCcTBME 3aKOHYMIOCh, 3aBepLUNITOCh K onpeaeriéHHOMY MOMEHTY B
HacTosLweMm, npoweawem unm bygywem: | have seen this film (A (yxe)
nocmoTpen aToT gpunbm). He had finished his work by 10 o’clock in the



morning (OH 3aBepmn paboty Kk 10 yacam ytpa). Ann will have written her
article by 3 o’clock. (AHHa HanuweT cTaTbio K 3 Yacam).

B ueHTpe BHMMaHUs — pe3ynbTaT AENCTBUS, @ HE BPEMS €ro BbINOSTHEHWS.
Ckasyemoe BO BpemeHax rpynnbl Perfect obpasyetca npu nomowm
BCnomorartensHoro rnarona to have B Hactoswewm (have, has), npoweglem
(had) nnun 6ygywem (shall have, will have) HeonpenenéHHom Bpemenun u
¢oOopMbl CMbICINOBOrO rrarona.

3anoMHUTe NOPSAS0K CIIOB B PasfinyHbIX TUMax NpearioXXeHnin BO BpeMmeHax
rpynnobl Perfect, npuBegéHHbix B Tabnuue. 3aech, Kak U BO BpeMeHax rpynnbl
Continuous, npu nocTaHOBKe BOMNpoOCca Ha NepBOe MECTO CTaBUTCHA NepBbIn
BCMOMOraTenbHbIN rraron.

CnpsixeHune rnaronos rpynnbl Perfect

dopma Present Perfect Past Perfect Future Perfect
YtBepan- | | have (I've) Twritten | had (I'd) written | shall (1”Il) have
TenbHas | He has (He’S)}the letter | the letter by 2 He will (He'll)
o’clock written the letter by 2
o’clock
Bonpocu- | Have | written the | Had | written the Shall | have
TenbHas Has he} letter? letter by 2 o’clock Will he
written the letter by 2
o’clock?
OTtpuua- | have }written the | had not written the | | shall }not have
TenbHas He has J letter letter by 2 o’clock. He will J written the
I've not written the | I'd not written... letter by 2 o’clock
He’s } letter Pl not have
He'll written...

PacnosHaBaTenbHble anemeHTbl rpynnel Perfect:

1. Present Perfect.

[lencTBMe CoBEPLUMNOCH K HAcTOALLEMY MOMEHTY. Pe3ynbTaTt aToro
AEeNCTBUSA HanMuuo. OTO BPEMS LLUMPOKO yrnoTpebnaeTca B pa3aroBOPHON peyn
CO crnegywowmmmn cnosamu: ever, already, just, lately, yet, since.

2. Past Perfect.

[encTBne coBepLUMNOCh K onpeaenéHHOMY MOMEHTY B MPOLLSIOM. JTOT
MOMEHT nepegaéTca obctoaTenbcTBamu BpemeHn: by that time, by 2 o’clock,
by the end of the year (month).

Past Perfect ynotpebnsietca Takke B Tex crnydasax, korga Mbl XOTUM
NnoAvYepKHYTb NpeaLecTBoBaHMEe ogHOro gencraus gpyromy: He said that he
had left his key at home.

3. Future Perfect.

[lencteme coBepLUINTCS K UM OO OnpeaeniEHHOro MOMeHTa B ByayLuem.
MomeHT moxeT 6bITb YKasaH: by Sunday, by 3 o’clock, by that time. Future




Perfect ynotpebnsetca peako, valle oHO 3aMeHsieTcsa oopmon Future
Indefinite.

I. Use the verbs to make a form of the present perfect simple.
Model: The ship(not sink)....but it's in a dangerous condition.
The ship hasn‘t sunk but it's in a dangerous condition.

1. (your sister write) ... ... to you yet?

2. | (have) ... ... a headache ever since lunchtime.

3. Nadia (never see) ... ... any Chinese films.

4. Someone (steal) ... ... Mr Grant’s.

5. The passengers are tired because they (not sleep) ... ... all night.
6. I'm afraid we (just break) ... ... your window. Sorry!

7. David (not, win) ... ... a prize this time, I’'m afraid.

8. (you ever eat) ... ... Spanish food? It's great.

Il. Put a time word or phrase from the list into each space.

yet  for  since often ever
never already so far just always

Model: Carlos has lived in the city centre since 1996.

1. Thanks for the present! I've .......... wanted a pet goldfish!

2. Haveyou ........... drunk pineapple juice? It's fantastic!

3. I've i heard some fantastic news! I've passed my exams!
4. Hurry up! Haven'’t you finished ................ ? You are a slow-coach!

5. Nina has worked in this company ............... five years.

6. I've ............. been on a big ship before. It's an interesting experience!
7. We're very busy today. ............. we’ve sold over a hundred bikes.

8. I've.............. passed this building, but this is the first time I've been
inside.

9. Can | have a different book? I've ............... read this one.

Ill. Complete the second sentence so that it has a similar meaning to the first
sentence.
Model: We started working here three years ago.
We have worked here for ......... three years.
a) This is the first time I've been on a plane.
| ... 8 R before.
b) That's strange! My pen isn’t here!
That'sstrange! ... disappeared!
c) Nicky and Jan aren’t at this school any more.
Nickyand Jan ..o, this school.
d) | saw a friend of yours a few moments ago.



.. 1. R/ R a friend of yours.

TSI s U my letters yet.
f) Is this your first visit to South America?

Have ... before?
g) Oh bother! My wallet is still in the car.

Ohbother! | ..., my wallet in the car.
h) It’s a long time since we spoke to your sister.

We B/ 28 . ...l R to your sister for a long time.
i) Is Anna still asleep?

Has .o up yet?

IV. Choose the correct word or phrase underlined in each sentence.
Model: While | had waited/was waiting/waited at the bus-stop, | had
noticed/was noticing/noticed a new shop which wasn’t/had not been in
the street the day before.

1. | had gone/went out into to the garden to fetch my bike, but found/was
finding that someone stole/had stolen it.

2. When George met/was meeting Diane for the first time, he knew/was
knowing that he met/had met/was meeting her somewhere before.

3. Helen got off/was getting off the bus, and walked/was walking into the
bank when she realized/had realized/was realizing that she left/had
left/was leaving her handbag on the bus.

V. Put each verb given into past simple, past continuous or past perfect. More
than one answer may be possible. The first answer (a) is given for you.
The police suspected that Brian (a) had broken (break) the window at his

house because he (b) .................. (want) to make them think that a burglar
(o) I (steal) his valuable stamp collection. They (d) ..................
(think) that Brian (€) .................. (do) this because he (f) ..................
(need) the money. However, they (g) .................. (not know) that Brian (h)
.................. (fly) to Brazil the week before, and (i) ..................( be) abroad
when the burglary (j) .................. (take place).

VI. Complete each part sentence “a” to“ g” with one of the part sentences 1 to
8. More than one answer may be possible.
Model: As soon as | hear from Helen, 6.

a) By the time Mary arrives .....

b) Please take a seat .....

c) This time next week .....

d) Next time you see me .....

e) We’'ll have time to have some lunch .....



f) Inafew moments ......
g) There won’t be any more lessons .....

1) until the dentist is ready.

2) the match will be over.

3) I'll have had my haircut and you won’t recognize me.
4) It will have stopped raining.

5) Before the train leaves.

6) I'll ask her to phone you.

7) Until the teachers’ strike is over.

8) We’'ll be enjoying ourselves on holiday.

BpemeHa rpynnbl Perfect Continuous

maronbl 3TOW rpynnbl BblpaXalT OENUCTBUS, KOTOpbIE: a) Havanucb
paHblUe YKa3aHHOroO MOMEHTa B HacTOsLieM, npowlelem nnu dyaylwem u
NpodoIKalT CcoBepllaTbCs Mocre 9Toro MoMeHTa; 6) coBepllanucb
HEKOTOpPbIN OTPE30K BpeMEHN 0 onpedesieHHOro MOMeHTa.

BpemeHa rpynnbl Perfect Continuous (COBEpPLUEHHbLIE ANUTENbLHLIE)
obpasyloTcd C MOMOLWbLI  BCnomMoratenbHoro rnarona to be B
cooTBeTCcTBYOLWEM BpeMeHu (Present Perfect, Past Perfect, Future Perfect) n
YyeTBEpPTON POPMbI CMbICITOBOrO rnarosa.

CnpsixeHue rnaronos rpynnbl Perfect Continuous

Present Perfect Continuous | Past Perfect Continuous | Future Perfect Continuous

YTBEepantTennHaa opma

| have } been writing | had been writing the | shall have been
He has the letter for letter for an hour when he | He will writing the letter
an hour. came. for an hour when
he comes.
A 6ydy nucamb nucbMo (yxe)
A nuwy nucbmo (yxe) yac. A nucan nuceMo (yxe) yac, koeda oH npudem. (OH
(OH nuwem ....) yac, koeda OH npuwiernn. bydem nucame ...)
BonpocurtensHas oopma
Have | been writing Had | been writing the Shall | have been
Has he the letter for letter for an hour when he | Will he writing the letter
an hour? came? for an hour when he comes?
OtpuuyaTenbHas gopma
| have } not been | had not been writing | shall not have been
He has writing the the letter for an hour when | He will writing the letter
letter for an he came. for an hour when
hour. he comes.
(I shan't ..., He won't ...)
(I haven't ..., He hasn’t ...) (I hadnt ...)




PacnosHaBaTenbHble anemeHTbl rpynnbl Perfect Continuous:

1.

Present Perfect Continuous.

BolpaxkaeT anutenbHoe OeNCTBUE, KOTOPOE Hayanochb B MPOLLUSIOM U eLle
COBepLUaeTCs B HacTosiLLee Bpemsl.

Bcerpa ykasaH nepuop spemenu: for an hour (B TeueHne vaca), for a long
time (gonroe Bpems), since five o’clock ( ¢ naT1 yacos) u T.4., KPOMeE TOro,
BblpaxkaeT ANuTenbHOe AENCTBME, KOTOPOE Ha4Yanoch B NPOLUIIOM U
3aKOHYUITOCb Nepen MOMEHTOM peyun.

. Past Perfect Continuous.

BelpaxkaeT anurensHoe npollejuwee gencTBue, KOTopoe Hayvyanochb paHee
Apyroro npoweawero 4encTBUA 1 BCe eLle NponcxoguT B MOMEHT €ro
HaCTYNNeHUs UM 3aKOHYNNOCh HEMOCPEeLCTBEHHO nepes MOMEHTOM
HaCTynneHus Apyroro npoweaLwero JencTBus.

Mepuopg goencteua MoxeT ObITb YkasaH: for two hours (B Te4yeHue aByx
yacos), for three months (B TeueHune Tpex mecsues), for along time
(gonro, gasHo) 1 T.4. B TOM cny4ae, korga gencrtame 3aKOHYUOCh,
nepuon MoxeT bbITb U HEe yKa3aH.

. Future Perfect Continuous.

BolpaxaeT anutenbHoe byayllee aencTeBne, KOTOpoe HauYMHaeTcHa paHee
apyroro dyayuiero oenctems n byger elle coBepLllaTbCA B MOMEHT ero
HacTynneHus. 3To BpeMsa yrnotpebnaercsa 04eHb peako.

I. Choose the correct word or phrase underlined in each sentence.
Model: [ live here/l have lived here since the end of last year.

Someone has just stolen/has just been stealing my bicycle.

I’'m afraid the last train left/has left an hour ago.

Yesterday | lost/have lost my wallet.

Thank you for your offer, but I've decided/l decided not to accept it.

Take your umbrella with you. It's started/It started raining.

We’re enjoying our trip. We have visited/visited two countries so far.

I’'m standing here/lI've been standing here for hours and | feel tired.

This has been/was a busy day and it isn’t over yet!

| feel really tired. We went/have been to a party last night.
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Il. Complete each mini-dialogue, using the verbs given, in either present
perfect simple or present perfect continuous.
Model: A: “Terminator 2” is on at the “Rex”?
(you see) Have you seen it?
B: No, not yet. Shall we go? | (look forward) am looking forward to

seeing it.
1) A: What’s the matter? You look really tired!
B: I am! | (study) all day, and | (not finish) yet.

A: Oh well, time for a break.
2) A: | (phone) Carol all day, but there’s no reply.



B: | expect she (go) swimming with her friends.

3) A: (you hear) the news?
B: What news?
A: Someone (rob) the bank at the end of the road.
4) A: Why is your leg in plaster?
B: That’s a silly question! | (break) it, of course.
A: Someone (write) “Time for a break” on the plaster!

Ill. Complete the second sentence so that it has a similar meaning to the
first sentence.
Model: | came to live here three months ago.
| have been living here for three months.

1. Mary is out at the shops at the moment.
Mary to the shops.
2. | have had French lessons since March.

I French since March.

3. I’'m still reading this book.
I reading this book yet.

4. Paul left the room a moment ago.
Paul has the room.

5.  Ten of the letters are ready.
I ten letters so far.

6. It's ages since | last went to the cinema.
I to the cinema for ages.

7.  Thisis the first time I've eaten snails.
I shails before.

8. | don’t remember Helen’s phone number.
| have Helen’s phone number.

9. David has a different opinion now.
David his mind.

IV. Answer the questions according to the model:
Have you been staying here long? (for a month)
| have been staying here for a month.

1. Has he been talking about his plan long? (all these days) 2. Have
children been swimming long? (for half an hour) 3. Have they been working in
the garden long? (since 100‘clock) 4. Have you been watching TV long? (for
two hours) 5. Has he been sitting here long? (for a long time) 6. Have you
been looking for the book long? (the whole day) 7. Had it been raining long?
(for a week) 8. Has it been snowing long? (since yesterday) 9. Have you been
translating the article long? (for three hours) 10. Have you been working
long? (since early morning)



V. Read the situations and make sentences from the words in brackets.
Model: | was very tired when | arrived home.
(I/work/hard all day) | had been working hard all day.

1) The two boys came into the house. They had a football and they
were both very tired.
(they/play/football)
2) There was nobody in the room but there was a smell of cigarettes.
(somebody/smoke/in the room)
3) Ann woke up in the middle of the night. She was frightened and didn’t
know where she was.
(she/dream)
4) When | got home, Mike was sitting in front of the TV. He had just
turned it off.
(he/watch/TV)

VI. Read the situation and complete the sentences.
Model: We played tennis yesterday. Half an hour after we began
playing, it started to rain.
We had been playing for half an hour when it started to rain.
1. I had arranged to meet Tom in a restaurant. | arrived and waited for him.
After 20 minutes | suddenly realized that | was in the wrong restaurant.
I for 20 minutes when |
2. Sarah got a job in a factory. Five years later the factory closed down.
At the time factory , Sarah there for
five years.
3. I went to a concert last week. The orchestra began playing. After about ten
minutes a man in the audience suddenly began shouting.
The orchestra when
4. This time make your own sentence: | began walklng along the road.
I when

VIl. Putthe verb into the most suitable form, past continuous (I was
doing),

past perfect (I had done) or past perfect continuous (I had been
doing).
Model: It was very noisy next door. Our neighbours were having (have) a
party.
Model: We were good friends. We had known (know) each other for a long
time.
1. John and | went for a walk. | had difficulty keeping up with him because
he (walk) so fast.
2. Mary was sitting on the ground. She was out of breath. She
(run).




3. When | arrived, everybody was sitting round the table with their mouths

full. They (eat).

4. When | arrived, everybody was sitting round the table and talking. Their
mouths were empty but their stomachs were full. They (eat).

5. Jim was on his hands and knees on the floor. He (look) for his
contact lens.

6. When | arrived, Kate (wait) for me. She was rather annoyed
with me because | was late and she (wait) for a very long
time.

7. | was sad when | sold my car. | (have) it for a very long
time.

8. We were extremely tired at the end of the journey. We
(travel) for more than 24 hours.

[naron to do
(to do — did — done)

CuHTakcuyeckasa yHKUNA 1 Mpumep v nepesoa
3Ha4yeHue
1 2

1. CMbICIOBOW rnaron: «genatby, An electric motor does mechanical
«NPOBOANTLY, «BbIMOMNHATLY, work.

«coBepLiaTby. ONEKTPUYECKMA MOTOpP coBepLuaeT

paborTy.
2. BcnomorarernbHbIn rnaron: - Do you know how to use this

a) Ans obpasoBaHWsi BONPOCUTENBHON U | device?
oTpuuartensHon opm B Present, Past _Yes. | do. — Bbl 3H3eTe. Kak

Indefinite;

Nonb30BaTbCs 3TUM NPUBopomM? —
[a.
- Did you see this film yesterday?
- No, | didn’t. — Tbl BuOen atoTt
dounbm BYepa? — Her.
Don’t use this tool, it is broken. He

0) onga obpasoBaHusa oTpuUaTENBHON

hopMbI NOBENUTENBHOIO HAKNOHEHWS; Nonb3yics 3TM pe3sLoM, OH
CJTIOMaH.
B) Ans ycuneHus sHadenus rmarona — | Only then did he understand his
CKasyemoro. mistake. Tonbko TOrAa OH NOHAN

CBOIO OLLUMOBKY.

We do realize what great importance
this discovery has for the future
work. Mbl gencTBuTenbHO
NOHUMaeM, Kakoe OrpoMHoe
3HayeHne MMeeT 3TO OTKPbITUE AN
Hawewn 6yayuien paboTbl.




1

2

3. naron — 3amectuTernb (BO
nsbexaHne NOBTOPEHUSN
CMbICIOBOrO rnarona).

The last experiments gave us much
better results than did the previous
ones.

[MocnegHne akcnepuMeHTbl Janm
HaMm ropasfo nyywime pesynbTaTthl,
YyeM npegbigyLume.

Unit IV

Data Transport and Means of Communication
Vocabulary Study

Nouns and noun phrases

aerial
. application
. availability

WN =

bandwidth
bursts of light
capacity
compression
consumer

. core

10. fiber
11.limitation

12. link-up

13. medium (pl.media)
14. mode

15. range

16. rate

17. strand of hair
18. transport

19. trunk line
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Verbs and verbal phrases

explode
handle
increase
launch
multiply
relay
transmit
utilize
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Word List

- aHTEeHHa

- nporpamMmma; NpUMeHeHue

- Hanu4yne; roTOBHOCTb
JAaHHbIX

- LWUMPUHA NOMNOCkI YacToT

- BCMbILLKX CBETa

- eMKOCTb, 00beM

- oKaTne JaHHbIX

= noTpebutenb

- cepaueBuHa, Xxuna kabens

- BONOKHO

- OrpaHn4eHune

- CoOeMHeHne, CBA3b

- cpeacTBo, crnocob

- MeToq, crnocob

- AnanasoH, npeagen

- TeMMN, CKOPOCTb

- Npsab BOMOC

- nepefaya (OaHHbIX)

- MarucTparnbHas fMHUN

BHE3amnHo n BbLICTPO pa3BUBATLCS
obpabaTbiBaTb

BO3pacTaTb, YBenmymeaTtbh(cs)
3anyckatb

yBenMumBaTb(CH); yMHOXaTb
nepegasaTh (ganbLue)
nepenasaTb

MCNonb30BaThb




Adjectives and adverbs

1. assorted - NoAXOoAALLMW, COOTBETCTBYIOL MM
2. currently - B HacTosLlee Bpems
3. digital - umcposon
4. du jour - (thpaHu.) coBpeMeEHHbIN
5. internal - BHYTPEHHMUI
6. wireless - ©ecnpoBONOYHbLIN, paguno-
l. Read and translate the following words. Arrange them into the groups: a)

with one stress or stress on the first syllable; b) with the stress on the
second syllable; c) with two or more stresses.

Storage, capacity, media, availability, rate, device, trunk line, satellite,
telecommunications, demand, transport, wireless, access, information,
limitation, fiber-optic cable, application, bandwidth, . consumer, core,
transceiver, towards, link-up, decompression, handle, standard, button,
increase, range, consider, burst of light, analog, telephone call, data, digital,
relay, launch, site, copper wire.

Il. Match the words on the left with the definitions on the right.

1) aerial a) apparatus for sending out radio/TV signals.
2) transport b) readiness to be used.
3) currently c) to make use of something.

4) communicate  d) device for sending or receiving radio or
television signals.

5) availability e) strong material made of woven threads of
6) utilize glass.
7) fiberglass f) to move from one place to another.
g) to pass information to someone/to be in touch
8) transmitter with someone.
h) at the present time; frequently.
Ill.  Choose:
a) a noun

)
1. a) apply; b) application; c) applied; d) applicable.

2. a) transmitted; b) transmissible; c) transmit; d) transmission.

3. a) compressible; b) compress; ¢) compression; d) compressed.

4. a) communicative; b) communicable; ¢c) communication; d)communicate.

b) a verb
1. a) multiply; b) multiple; c) multiplier; d) multiplication.
2. a) difference; b) different; c) differential; d) differ.
3. a) transportation; b) transportable; c) transport; d)transporter.
4. a) informative; b) inform; c) information; d) informer.



c) an adjective
1. a) solve; b) solvency; c) solvable; d) solvability.
2. a) access; b) accessible; c) accessibility; d) accession.
3. a) breakable; b) break; c) breaker; d) breakage.
4. a) normalize; b) norm; c) normal; d) normality.

d) an adverb

1. a) light; b) lighter; c) lightness; d) lightly.

2. a) close; b) closing; c) closely; d) closeness.

3. a) high; b) highly; c) higher; d) highness.

4. a) increase; b) increasing; c) increased; d) increasingly.
IV.Define the meaning of the “x” words. Convert: conversion =

=npespawatb: X. (rnaros: cywecTBuTesibHoe)

1) transmit: transmission = nepegaBaTb: X.

2) limit: limitation = orpaHnumnBaTh: X.

3) compress: compression = cXXumaTtb: X.

4) apply: application = npyumeHaTb: X.

5) provide: provision = obecneymBaTb: X.

6) compute: computation = BblUNCIIATB: X.

7) connect: connection = coeanHsATb: X.

8) reflect: reflection = oTpaxaTb: x.

V. Make adjectives from the following nouns by adding the suffixes: -al, -
ible, -ful, -less, -able and translate them into Russian.

Access, medium, use, wire, wonder, digit, transport, limit, break, norm,
form.

VlI.Arrange the words with similar meaning of the two groups in pairs.
a) device, transport, currently, apply, data, process, media, rate, link-up
b) utilize, means, apparatus, speed, handle, connection, transmit, at present,
information.

VIl. <Match the words with their opposites.

a) wire 1) decrease

b) ability 2) external

Cc) common 3) unlimited

d) compress 4) disability

e) limited 5) unnecessary
f) increase 6) wireless

g) necessary 7) uncommon

h) internal 8) decompress



VIll. Match the verbs from “a” with the nouns from*“b”.

a) transport b) letters
launch button
increase principle
click on data
reflect network
exchange satellite
develop light
base on speed

IX.Complete the sentences with the words given below.

1. The telecommunications age increases ... for greater bandwidth and
more storage capacity.

2. There are different methods of ... such as telephone lines, wireless
communications, etc.

3. Communications satellites ... a worldwide link-up of radio, telephone
and television.

4. The transceivers ... information to each other via radio signals.

5. The ... transmission is based on the principle of total internal reflection.
6. In fiber-optic cables information is carried in the form of ... bursts of
light.

7. The Internet contains assorted media, computers and ... .

8. Limitations exist in every ... of transport a user chooses.

Relay, mode, digital, the demand, applications, fiber-optic, provide, data
transport.

X. Translate into English.

1. PagunouHayctpua ctana 6bICTpo pas3BmBaTbCHA nocne 3arnycka nepBoro
CNyTHUKA CBS3N.

2. TenedoH — camoe pacnpocTpaHeHHOEe CPeacTBO CBA3M.

3. BonokoHHo-onTu4ecknn kabenb obecneymBaeTr ©Gonee  BbICOKOE
Ka4yeCTBO nepenaym nHopmaunm, a Takke yBermyeHne CKopoCTH.

4. Yncno nNoCTosiHHbLIX nornb3oBaTtesnien WHTepHeTa yBenvumMBaeTcs
KaXXObl OEHb.

5. Belbupass cpeactBo nepedavm OaHHbIX, HY)KHO YYUTbIBATb Hanudue
LUMPUHbI MONOCHI YacToT.

6. PasannyHble nporpammbl TpeOylT COOTBETCTBYIOLWMX OMana3oHOB
LLUMPMHBI MNONOCLI YacToT.

7. epcoHanbHble  KOMMNbOTEPLI M )akCbl  CYUTANUCb  HOBLIMWU
TexHonornamm B 1980-x rogax.

8. BonokHo obnagaeT NoYTM HEOrPaHNYEHHOMW LLUMPUHOM NOSOCHI YacToT.



A. Text Study

I. Look at the ftitle. What do you think this reading will be about?
Read the text and define its main idea.

Text A

DATA TRANSPORT THROUGH A SPEEDY WORLD

One hundred years ago people communicated exchanging letters, fifty
years ago it was a telephone call, and in the 1980s personal computers and
fax machines were the technology du jour (coBpemeHHas). In the
telecommunications age, the demand for greater bandwidth, more storage
capacity, and accelerated data transport speeds is increasing faster than you
can click on your send button. When choosing a transport medium you should
consider the amount of bandwidth that is guaranteed (bandwidth is the ability
to transport data). Different ranges of bandwidth are necessary for different
applications.

The most common methods of data transport are telephone lines,
wireless communications, the Internet and fiber optics. A standard telephone
line can only handle 56k (one k = 1000 bits); most standard wireless systems
can give 10Mb of bandwidth. Today’s highest speed on the Internet is
45Mb/sec on major trunk lines, and most Internet users access the Web at
around 56K. Fiber has closed to unlimited bandwidth and can be broken up
into many streams of light carrying 194 Mb.

Since the early 1960s when the first communications satellite was
launched, the satellite aerial/wireless industry has exploded. Communications
satellites provide a worldwide link-up of radio, telephone and television.

The wireless system consists of a receiver and transmitter located at
each end of the connecting sites. These transceivers relay information to
each other via radio signals.

Telephone line is the most commonly used communications device.
With today’s transmission of video and data, a standard telephone line has
only enough bandwidth to transmit 56 k data and either analog or digital
voice. In order to transmit video over telephone lines, a CODEC (a
compression / decompression device that breaks up the video and data into
packets) is required.

As digital trend grows, copper wire utilized for long distances has been
replaced by glass cables as thin as strand of hair. Fiber-optic cable offers
increased call-carrying capacity, higher speed, and greater transmission
quality. The fiber-optic transmission is based on the principle of total internal
reflection. Light travels inside the core of the fiber and reflects any light trying
to escape from the core. Fiber-optic cable carries information in the form of



digital bursts of light, at data rates that are thousands of times greater than
those of normal phone lines.

The Internet is a network that contains assorted media, computers, and
applications. Today the Internet is over-utilized and bandwidth is limited. As
the number of online users multiplies, the amount of space on the Web and
the bandwidth availability decrease.

Internet Il, a higher speed network currently being developed, may go a
long way towards solving these problems.

No matter which mode of transport a consumer chooses, limitations
exist in every one of them. It is important to understand how to get the most
from a chosen medium.

Il. Read the text again carefully and answer the questions.
1. How did people communicate before the advent of personal
computers and fax machines?

What requirements are increasing in the telecommunications age?

What should you consider when choosing a mode of transport?

What methods of data transmission do you know?

Why has wireless industry exploded since 1960s?

What is required to transmit video over telephone lines?

What has been replaced by glass cable?

What beneficial effects does fiber-optic cable have?

What principle is the fiber-optic transmission based on?

10. Why is the Internet over-utilized?

11. What is Internet 11?

12. Is there a transport medium without any limitations?
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Ill. Which of the vocabulary units used in paragraphs 1-2 could be regarded
as international words?

IV. Read the translation of the sixth paragraph. Compare it with the original
and say if everything is right.

C nosiBfieHMEM UMPPOBON CBS3N MCMONb3OBAHME MeOHOro nposoda
ANa _nepegavn OaHHbIX Ha 6rvM3kMe pacCTOAHWSA 3aMEHUNU BOSTOKOHHbLIMMU
kabenamu TOnNMWMHOM B 4enoBeyecknn naney. bnarogapa npuMeHeHuto
BOJIOKOHHOro Kabens ysenuuuncs obbem nepefaBaemMbiX 3BOHKOB, CKOPOCTb
M KadecTBO nepepayvn. BonokoHHO-oNTMYeckast nepefada WMHGOpMaLnn
OCHOBaHa Ha nNpPUHUMNE YacTUYHOrO BHELWHero oTpaxeHus. CaeT
nepemeLlaeTcss Mo BOSIOKHY W OTpaxaeTca npu MonbiTKe BbIATU 3a €ro
npeaensl. BonokoHHo-onTU4eckun kabenb nepenaet uvHgopmauuio B BUOE
MMMYNbCOB B ThiCAYY pa3 bbICTpee, YeM CTaHA4APTHbIE TENEMOHHbIE NIMHUMN.



V .Find the English equivalents of the following words and word combinations
in paragraph 6.
[MepemaBatb  MHQOpPMALMIO, UCMNOSMb30BaTb, BOJIOKOHHO-OMTUYECKUM
kabenb, UMGpPOBOM, BCMbILKW CBETa, CepAueBMHA OMNTUYECKOro BOJSIOKHA,
yBenuynBaTb, OCHOBbIBATLCS Ha YeM-nMbo, oTpaxeHue.

VI. Find the passage about data transmission over telephone lines and
franslate it into Russian.
VIl .Choose a passage and read it aloud (1-2 minutes).
VIIl.Find complex grammar structures in the text and divide them into simple
ones.
IX. Find out the subject-matter and the means of its secondary expression.
e.g. Betty has a temperature. Give her some tablets.
X .Find key words, phrases and the topic sentences which express the
general meaning of each paragraph best of all.
Xl. Using the information obtained from the paragraphs make a plan of the
text.
Xll.Speak about various transport media available, their limitations and
benefits using key words, phrases, the topic sentences and the plan of the
text.

B. Text Study

I. Look at the title of the text. Make your predictions about the content of it.
Read the text and answer the questions.
1. What is radio communication?
2. What are the main components of radio?
3. What is the difference between radio waves and other waveforms?

Text B
RADIO COMMUNICATION

Radio communication is the transfer of high-frequency energy from the
transmitter to the receiver without wires.

Radio is a device that transmits and receives signals and programs by
electromagnetic waves. Since the process of radio communication includes
transmission and reception of signals, the necessary components of radio are
a transmitter and a receiver.

The transmitter is a device that produces radio-frequency energy. The
main parts of a transmitter are a high-frequency oscillator including an
oscillatory circuit and one or more amplifiers. In modern transmission electron
tubes are used to amplify currents and give greater transmitting range and
better reception.



The receiver is a device that receives waves sent out by a transmitter.
Radio receiver demodulates the waves and they are heard as speech, music
and signals.

Electric oscillations are produced in the antenna of the transmitter. They
travel in all directions.

Radio waves are electric waves of very high frequency; they travel
through space at the speed of light. They differ from other waveforms only in
frequency (number of vibrations per second).

Il. Read the text and define whether the following statements are true or false.
1. Radio communication means the transfer of high-frequency energy along
the wires.

The main components of radio are a transmitter and a receiver.

The transmitter consists only of some amplifiers.

Radio waves are low-frequency electric waves.

Radio waves differ from other waveforms in wavelength.

Sl ol

Ill. Expand the sentences.

1. Radio communication is a communication without wires.

2. Radio is a device for transmitting and receiving signals and programs by
electromagnetic waves.

3. A transmitter and a receiver are the main elements of radio.

4. Radio waves are electric waves of very high frequency.

IV Now decide which of the following statements express important ideas or
supporting details for this reading.
1.  a) Radio is a device that transmits and receives signals by
electromagnetic waves.
b) The process of radio communication includes transmission and
reception of signals.
c) The necessary components of radio are a transmitter and a receiver.
2. a) The receiver is a device that receives waves sent out by a
transmitter.
b) Radio receiver demodulates the waves.
c) Demodulated waves are heard as speech, music and signals.
3. a) Radio waves are electric waves of high frequency.
b) The travelling speed of radio waves through space is equal to the
speed of light.
c) Radio waves differ from other waveforms in frequency.

V. Find the words — carriers of the primary and the secondary information in
paragraph 3.

VI. Define the function of commas in the text.



VIl. Find out the means of connection between clauses, parts of the sentence
and sentences.

VIIl. Arrange the sentences in the logical order according to the text.
1. In up-to-date transmission electron tubes are utilized to amplify
currents.
2. Radio waves travel through space at the speed of light.
3. The main parts of the transmitter include a high-frequency oscillator and
one or more amplifiers.
4. Radio communication is the transfer of high-frequency energy without
wires.
5. The waves are demodulated by radio receiver and heard as speech,
music and signals.

IX. Give the main points of the text in 4-5 sentences.
C. Text Study
|. Translate the text into Russian.
Text C
TELEGRAPH

Benjamin Franklin, an American who is famous for his interesting and
useful inventions, published his ideas about electricity in 1752. Scientists in
many countries became interested in this wonderful form of energy. They
wanted to find the answer to a very important question: could the electricity
be used to develop a fast, efficient system of long-distance communication?
Experiments proved that electricity could travel instantly over a very long
piece of wire. But a note that was written on a piece of paper couldn’t be put
into a wire. How could electricity be used to send a message? A Danish
scientist discovered that electricity could move a needle from left to right and
that the needle could be pointed at letters on a piece of paper. Then a
German government worker made up a code system that could be used with
an electric needle. In 1837 two English scientists sent a message by electric
telegraph for a distance of more than 1.6 kilometers.

Samuel Morse, an American portrait painter, was experimenting with an
electric telegraph too. At first he connected a pencil to an electric wire. When
the electricity came through the wire the pencil made wavy lines. Then Morse
invented a code that used dots and dashes for the letters of the alphabet.
Finally, he discovered that telegraph messages did not have to be written,
they could be sent in sound.

On May 24, 1844, the first long-distance message was sent by
telegraph for 64 kilometers.



Telegraph companies were formed in many cities. By 1861 telegraph
wires stretched from the Atlantic to the Pacific. In Europe too, Samuel
Morse’s system became popular.

But telegraph wires couldn’t be hung over an ocean. Messages to and
from Europe had to be sent by ship — a journey of two or three weeks. A new
method was needed.

The Atlantic Telegraph Company which was organized in 1856 wanted
to try to lay a cable on the floor of the Atlantic Ocean.

The 4,000-kilometer cable broke three times. Each time a new cable
had to be made. Finally, on July 27, 1866, the first transatlantic message was
sent from Newfoundland to Ireland.

Later cables were laid to Asia and Australia. At last news and business
information could be sent instantly to almost every country in the world.

Grammar Study

The Passive Voice
Onpepnenenune
Ckasyemoe, BblipaXkeHHOe rnarosiom B CTpagartenibHOM 3arore, ykasbiBaeT
Ha TO, 4YTO [OEeWNCTBME COBepllaeTcs Hag npeamMeToM, BblpaXKeHHbIM
nognexawmm.

O6pasoBaHue
CTpapaTenbHbln  3anor obpasyeTcda npyv MNOMOLLKM BCNOMOraTesnbHOro
rnarona to be B cooTtBeTcTBylOWLIEM BpeMeHn n Participle || cmbicnosoro
rnarona.

|. Cuctema rpammaTuHECKUX BpeMeH B cTpagaTernbHOM 3anore
(English Tenses in the Passive Voice)

Simple Continuous Perfect Perfect
Continuous
1 2 3 4
Infinitive To help To be being | To have _
helped been helped
Present My friendis | My friend is | My friend
always being helped | has already
helped with | with his been helped
his composition | with his .
compositions. | now. composition.
Moemy apyry | Cenyac Moewmy opyry
BCcerga MOEeMY ApYry | y>Xe NoMornu
nomoratoT nomoratoT HanucaTtb
nncaTb nncaTb COYMHEHME.
COMMHEHUS. | COMMHEHNE.




1 2 3
Past My friend My friend My friend
was helped was being had been
with his helped with | helped with
composition | his his
yesterday. composition | composition
Buepa for 2 hours before his
MoeMy apyry | yesterday. mother came
NoMOornm Buepa home.
HanucaTb moemy apyry | Moemy aopyry
COYMHEHMe. | nomoranu nomMorsm
nucartb HanucaTb
COYMHEHME | COMMHEHUE
ABa 4vaca. Ao npuxoaa
MaMmbl.
Future My friend will My friend will
be helped have been
with his helped with
composition his
tomorrow. _ composition
3aBTpa by 4 o’clock.
Moemy Apyry Moewmy apyry
nomMoryT nomMoryT
HanucaTb HanucaTb
COUYMHEHME. COYMHEHME K
4 yacawm.

Il. Cnoco6bl NnepeBoaa rrarona-ckasyemoro

a) coveTaHuemMm rnaromna «ObITb» C KpaTkon ddopMOoK NpunaraTenbHOro
cTpagaTtenbHoro 3amnora. [naron «ObiTb» B HACTOSALLIEEM BPEMEHUN HE
nepeBoAnTLCS:

This church was built in 1815. 3Ta uepkoBb Bbla NOCTPOEHA B

1915 roay.

6) rnaronomM HeCcoBepLUEHHOro BUAa, OKaHYMBaKOLWMMCA Ha —Csl, -Cb:

The conference is held in April every  KoHdepeHuna npoBoanTCA B anpene

year. KaXkoro roga.

B) HeonpeaesieHHO-NTMYHOM (hopMON rnarona B 4ENCTBUTESTIbHOM 3arore B
TPETbEM NULLE MHOXECTBEHHOrO Yncna (Npu OTCyTCTBUMMN OENCTBYIOLLErO
nmua):

At our faculty students are trained in Ha Hawem dakynbTeTe CTy4eHTOB
four specialities. o0y4yaloT No YeTbIpem
cneymanbHOCTAM.




r) NWUYHOM hopMon rnarona B 4ENCTBUTESNbLHOM 3anore (Npu Hanuyme

AONOMHEHNs ¢ npeasniorom by) [lononHeHne ¢ npegnorom by 4acTo
NepeBOaUTCA Ha PYCCKUM A3bIK NOAMEXaLLMM:

America was discovered by Konym6 oTkpbinn AMepuKy.
Columbus.

[MpumeyvyaHuga:

1.

2.

B aHrnuinckom s3bike CyLecTByeT psid rnaronos, KOTopble TPebytoT
NPSAMOro AOMNOSTHEHMUS, T.€. ABNATCA NepexoaHbIMKU, B TO BPEMS Kak
COOTBETCTBYHOLLUME rNarosbl B PyCCKOM S3blKe SABSAKOTCA HENEPEXOAHbIMM.
Takue rnaronbl NepeBogAaTCS rnaronamu ¢ npeanoramu.

to follow — cnepoBaTth (3a)

to address — obpawatscs (K Komy-1mbo)

to influence — BnNuATL (Ha)

to attend — npucyTtcTBoBaTh (Ha)

to affect — Bnnatb (Ha)

n ap.
Yesterday the lecture was attended Buepa Ha nekuum npucyTcTBoBanu
by a few students. HECKOSbKO CTYEHTOB.

HekoTopble rnaronsl MOryT MMeTb ABa obbekTa. [lpumepamm Takmx
rnaronos sBnatTcA include, buy, give, land, offer, promise, sell, take,
promise, send.

CywecTtBytoT 2 cnocoba yrnotpebneHms aTux rnarosioB B cTpagaTesibHOM
3anore:

a) Karen was given a present by Peter;

b) A present was given to Karen by Peter.

. BoipaxxeHue to be born - dopma ctpagatensHoro 3anora, HoO He UMeeT

Ha camMoM Jerie 3HavyeHus CTpagaTenbHoro 3arora.
| was born in Uruguay. A poaouncsa B Ypyraae.

. Have something done

- Mbl ynoTpebnsiem BoipaxkeHne Have something done, korga
obcnyxuBarLmi nepcoHan (Hanpumep, NAOTHUK, MEXaHUK U Ap.)
BbINOMHSAET Ans Hac Kakon-nmbo Bug padoT.

- Have moxeT ncnonb3oBaTbCs B N060OM BpEMEHWN.

We had our houses painted last year.

I’'m_having my car serviced tomorrow.

I’'ve had my room decorated.

. - Mbl Takke ynotpebnsem Have something done, korga nponcxoant

HenpuaTHoe cobbiTue.
She had house broken into.
Tim had his arm broken playing rugby.

lll. Cnocobbl nepeBoga noasnexaliero
[Moanealiee aHrMUNCKOro NpeasioXKeHnst Co ckadyemMbiM B CTpagaTenbHOM
3anore Ha pyCCKuUin s3bIK NepeBoaunTCs:



a) cywecTBuUTENbHbIM (MU MECTOUMEHMEM) B UMEHUTENBHOM UIA
BUHUTENbHOM Nagexax (Korga rnocre ckasyemoro CTOUT KOCBEHHOE Ui
npeasioxXHoe A0NONHEHNe):

A parcel has just been delivered to Mrs. Green.
[Mocbka Bbifa TONbLKO YTO gocTaBneHa, Mmccuc puH.
[MOCbIAKY TONMBKO YTO S4OCTaBWUWU, MUCCUC [ PUH;

6) cywecTBuTENBHBIM (MECTOMMEHNEM) B AaTeNbHOM nagexe (korga
nocrne ckaszyemoro CToUT NpsiMoe A0MNosfHeHne):

We were brought the bill. Ham npuHecnu cyer;

B) Npeasniorom, CTOALWMM MOCre rnarona B cTpagaTtesibHOM 3arnore n He
OTHOCALMMCA K cregyloumm 3a HUM crioBam; Mpu nepesofe Ha pPYCCKUM
S13blK CTaBUTCSA nepeq TEM CNOBOM, KOTOPOE B aHIMUNCKOM 43blke ABMSieTCA
nognexawmm:.

He is often spoken about. O HeM 4acTo roBopsr.

I. . Complete each sentences with a passive verb and translate it into
Russian.
1. The police questioned George. — George was questioned by the police.
2. Millions of people watch this programme. — This programme by
millions of people.
3. They will finish our new house at the end of the month. — Our new
house at the end of the month.
4. They have elected a new president. — A new president
5. They are rebuilding the damaged stadium. — The damaged stadium

6. They have closed the mountain road. — The mountain road

7. Students write most of this magazine. — Most of this magazine by
students.

8. A burglar stole my television. — My television by a burglar.

9. Somebody will meet you at the bus-station. — You at the bus-
station.

10.United won the cup last year. — Last year the cup by United.

Il. Underline the errors in these sentences. Rewrite each sentence and
translate it into Russian.

Many pet dogs are losing every year. — Many pet dogs are lost every year.
The ill man was been taken to hospital.

A new bridge is be built across the river.

All the food at the party was ate.

Nothing will being decided before next Saturday.

The meeting is holding every Friday.

This book was writing by Sam'’s father.

NoakowdPE



Ill. Rewrite each sentence with a passive verb, and so that the names of
people are not mentioned.
1. The authorities have closed the casino. — The casino has been closed.
. Someone broke into the flat last week.
People all over the world speak English.
The authorities have opened the new swimming-pool.
Someone left this purse in the classroom yesterday.
The city council has banned traffic from the city centre.
The clubs have postponed the match.
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IV. Choose the correct word or phrase underlined in each sentence.
I’'m having my hair/cut/to cut tomorrow.

The children were took/taken/taking to the seaside for the day.
| was sending/sent/send here by the manager.

Kate is having her car services/servicing/serviced tomorrow.
Sue had her windows breaking/broken/broke by vandals.
David has been offer/offering/offered a new job in Brazil.
Where exactly were you born/did you born/did you bear?

I've just had my like repaired/repair/repairing.

NG REWN -

V. Rewrite each sentence beginning and ending as shown.

Someone stole Bob'’s bike. — Bob had his bike stole.

John lent me this book. — This book John.

The dentist took out one of my teeth yesterday. — Yesterday |

out.

Cairo is my place of birth. — | in Cairo.

. A rock concert ticket was sold to me by a friend. — | was by a
friend.

6. Someone broke into Tom’s house last week. — Tom had last

week.

When is your date of birth? — When exactly born?

. My parents gave me this ring? — | parents.

W=
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Unit vV
Electricity: Energy of the Future
Vocabulary Study

Word List
Nouns and noun phrases
advance npoaBuXeHne, ycnex, Nporpecc
appearance nosiBNeHne
appliance npucnocobneHne, npnbop

application NnpUMeHeHne



beam
cable
cycle
device
gear
health

in the case of ...

labour
mankind
property
pulley
range
research
source
workshop

Adjectives

efficient
evident
expensive
specific
successful
universal
various
wide
Verbs
charge
consume
cover
design
double
imagine
improve
invent
light (lit)
provide
realize
reduce
replace
save
set up
support
transform
turn

ny4, Ny4yokK
kabenb

LIMKN

YyCTPOMCTBO, annapaT, npubop
LecTepHs, 3yb4aTtasa nepegaya
340poBbE

B criyyae ...

Tpya, pabota

4YefloBe4YecTBO

CBOWCTBO, KAQ4E€CTBO

LLUKNB, BOK, BOPOT
ccepa, 30Ha, amnnuTyga
(Hay4HOe) nccnepoBaHne
NCTOK, MCTOYHWK
MacTepckas, Lex

AENCTBEHHbIN, 3PEKTUBHBLIN
OYeBUOHbIN, ACHbIN

aoporoun (o ueHe)

0COobbI, 0COBEHHbIN, XapaKTepHbIn
yCrnewHbln

BCeobLKI, yHMBEpPCanbHbIN
pasHbIf, pa3HoobpasHbIn

LLUNPOKUM

3apskaTtb, 3arpyxatb
noTpebnaTb

NOKpbIBaTb, OXBaTbIBaTb
NpoeKTUpoBaTb, KOHCTPYMPOBaTb
yaBauBaTb

npeacTaBsnaTb, BOoOOpaxaTb

yny4ywaTb(cs), CoBepLUEHCTBOBATbL(CSA)

n3obpetartb

ocBellaTth, 3aXuraTtb
cHabxaTb, obecne4ymBaTb
npeacraBnATb cebe, OCyLLEeCTBNATb
NMOHMXaTb, COKpaLaTb
3aMeHsATb, 3aMellaTb
B6epeyb, 3KOHOMUTb
BO34BUraTb, yCTaHaBNMBaTb
nogaepXxuneaTb, NOAKPENNATb
npeobpasoBbiBaTb
noBopaymBaTbCs, 0bpaTUTbCA



l.

Read and translate the following words. Arrange them into the groups: a)
with one stress or stress on the first syllable; b) with the stress on the
second syllable; c) with two or more stresses.

Pollute, natural, panel, solar, consider, non-traditional, advantage,

photoelectric, expensive, tunnel, consumption, thermal-chemical, civilization,
population, motorway, photocopying, power, accumulate, during, remain,
electrometallurgy, environment, battery, lighting, individual, therefore, sun-
powered, unlimited, mechanical, hydraulic, geothermal, transformation,
concentrate, enough, area, supply.

Il. Match the words on the left with the definitions on the right.

1) motor a) place from which something comes or is got
2) device b) cause to exist or occur, produce
3) beam c) create or design (sth not existing before)
4) technology d) make less, make smaller in size, number,
5) invent degree, price
6) research e) change the shape, appearance, quality or
7) source nature
8) power f) something thought out, invented or adapted,
9) generate for a specific purpose

10)reduce g) investigation undertaken in order to discover

new facts

h) study, mastery and utilization of manufacturing
and industrial methods

i) device which imparts or utilizes power (esp
electric power) to produce motion, but not
used of a steam engine

j) ray or stream of light

k) strength; force

Ill. Choose:

NS
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a) anoun
a)invent; b)inventor; c)inventive; d)invention.
a)transform; b)transformer; c)transformation; d)transformed.
a)generator; b)generative; c)generate; d)generation.
a)pollutant; b)pollute; c)pollution; d)polluter.

b) a verb
a)operation; b)operator; c)operate; d)operating.

. a)apply; b)appliance; c)applicable; d)application.
a)indicator; b)indicate; c)indication; d)indicative.
. a)producer; b)productive; c)produce; d)product.



c) an adjective
a) effect; b) effective; c) effectiveness; d) effectively.
a) vary; b) variation; c) variety; d) various.
a) possibility; b) possibly; c) possible; d) impossible.
a) power; b) powerful; c) powerless; d) powerfully.
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d) an adverb
a) intensive; b) intensity; c) intensively; d) intensify.
a) mechanics; b) mechanic; c) mechanize; d) mechanically.
a) economy; b) economical; ¢) economist; d) economically.
a) warm; b) warmth; c) warmly; d) warmish.
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IV. Define the meaning of the “x” words.

1) provide: provider
obecneunBatb: X (CHabXeHeLl,, NOCTaBLLMK)
2) induce: induction
NHOYKTUPOBATb: X

3) accumulate: accumulator
HakannueaTb: X

4) transmit: transmission
nepenasaThb: X

5) consume: consumer
noTpebnsaTh: X

6) reduce: reduction
CcOKpallaThb: X

7) design: designer
NPOEKTUPOBaTb: X

8) improve: improvement
ynyywaTthb: X

9) apply: application
NPUMEHSTB!

10)combine: combination
KOMOMHUpPOBATB: X

11) populate: population
HacenaTb: X

12) operate: operator
ynpaensaTtb, paboTtaTtb: X

V. Make adjectives from the following nouns by adding the suffixes: -al, -ful,
-ic and translate them into Russian.

Industry, success, universe, economy, nature, part, power, tradition,
metallurgy, theory, digit, use, logic, electricity, structure, hope, idea, form,
skill, science, profession, physics, experiment, help, practice



VI.Arrange the words with similar meaning of the two groups in pairs.
a) reduce, various, advance, property, application, device, latest,
power, enable, reach, transform, longstanding, research, supply
b) turn to, make it possible, use, achieve, old, appliance, most
recent, energy, different, investigation, progress, quality, provide,
lower.

VIl.Match the words with their opposites, like the example:

usual unusual
a) future 1) save
b) unlimited 2) narrow
c) with 3) backward
d) waste 4) increase
e) necessary 5) worsen
f) wide 6) past
g) cover 7) disappear
h) consume 8) limited
i) reduce 9) produce
j) improve 10) vague
k) expensive  11) unnecessary
l) advanced 2) discharge
m) appear 13) without
n) evident 14) discover
o) charge 15) cheap

VIIl. Match the verbs from «a» with the nouns from «b».

a) develop b) consumption
accumulator solar power stations
solve streets
offer energy
transform new appliances
improve wind power
need a problem
replace the efficiency of...
light transmission shafts
charge a new source of
design energy
double service

a battery

IX. Complete the sentences with the words given below.

1. Electricity has many useful...:
laser devices have found...

it is clean and...no by-products. 2.The latest
in medicine. 3. The...of electricity has doubled



every ten years. 4. We have many various electric...in our houses. 5. The
generator...batteries that had been used before. 6. That electricity is clean
and easily-regulated is its great.... 7. Our lives have been completely
transformed with...of electricity. 8. A combination of electric lines and
networks are being...throughout the country. 9. Electric power has become....
10. The...of nation development is how much electricity is consumed per
capita.

Advantage, appliances, universal, set up, appearance, indicator,
replaced, application, properties, consumption, generates.

X. Translate into English.

O deKkTnBHOE MPUMEHEHME 3TOr0 YCTPOWCTBA, MPOEKTUpOBaTb HOBYIO
SNEKTPOCTaHUMNIO, CHWXaTb NoTpebneHne aHepruu, 3apsxaTb akkyMyrsaTop,
YHUBepcarnbHble CBOWCTBA, OYEBUAHLIN yCrex, ynyywartb 340poBbe Nogen,
ycTaHaBnnBaTb JIMHUW CBA3W, 3aMEHATb CTapble UCTOYHUKU 3SHEepruu,
OCYLLECTBNATbL MeXOAyHapoOHbIA MNPOEKT, 3KOHOMUTb pecypchbl, Aoporue
npnbopbl, npeobpasoBbiBaTb  OAHW  BUAblI  9HEprun B Opyrue,
COBepLUeHCTBOBATb 3rieKTporeHepaTop, nosdsrieHne HOBbIX HETPaaULMOHHbIX
NCTOYHUKOB 3HEPTUn.

A. Text Study
|. Look at the title. What do you think this reading will be about?
Text A
ELECTRICITY

It is impossible to imagine our civilization without electricity: economic
and social progress will be turned to the past and our daily lives completely
transformed.

Electrical power has become universal. Thousands of applications of
electricity such “as lighting, electrochemistry and electrometallurgy are
longstanding and unquestionable.

With .the appearance of the electrical motor, power cables replaced
transmission shafts, gear wheels, belts and pulleys' in the 19" century
workshops. And in the home a whole range of various time and labour saving
appliances® have become a part of our everyday lives.

Other devices are based on specific properties of electricity:
electrostatics in the case of photocopying machine and electromagnetism in
the case of radar and television. These applications have made electricity
most widely used.

The first industrial application was in the silver workshops in Paris. The
generator — a new compact source of electricity — was also developed there.
The generator replaced the batteries and other devices that had been used
before.



Electric lighting came into wide use at the end of the last century with
the development of the electric lamp by Thomas Edison. Then the
transformer was invented, the first electric lines and networks were set up,
dynamos and induction motors® were designed.

Since the beginning of the 20-th century the successful development of
electricity has begun throughout the industrial world. The consumption of
electricity has doubled every ten years.

Today consumption of electricity per capita is an indicator of the state
of development and economic health of a nation. Electricity has replaced
other sources of energy as it has been realized that it offers improved service
and reduced cost.

One of the greatest advantages of electricity is that it is clean, easily-
regulated and generates no by-products®. Applications of electricity now
cover all fields of human activity from house washing machines to the latest
laser devices. Electricity is the efficient source of some of the most recent
technological advances such as the laser and ‘electron beams. Truly®
electricity provides mankind with the energy of the future.

Notes to the Next

1) transmission shafts, gear wheels, belts and pulleys — TpaHCMUCCNOHHLIE
Basnbl, 3ybyaTble Konéca, peMHu 1 BrIoKK

2) time and labour saving appliances — anekTponpnbopbl, 3KOHOMSLLME
BpeMs 1 Tpya

3) induction motors — MHAYKUNOHHBIE MOTOPbI

4) per capita — Ha gywy HaceneHus

5) by-products — noboyHble NPOAYKThI

6) truly — nonctuHe

Read the text again carefully and answer the questions.

Why is it simply impossible to imagine our civilization without electricity?
What industrial applications of electricity do you know?

What home applications of electricity can you recollect?

Where was the generator developed?

What devices did the generator replace?

Who invented the electric lamp?

Do you know who invented the dynamo?

When did the successful development of electricity begin?

. What does the consumption of electricity per capita indicate today?
10. Why has electricity replaced other sources of energy?

11. What spheres of human activity do applications of electricity cover?
12. What recent technological advances does electricity provide?

©CONDOHWN ==



Ill. Which of the vocabulary units used in paragraphs 1, 2, 4 and 5 could be
regarded as international words?

IV. Read the translation of the last paragraph. Compare it with the original
and say if everything is right.

OgHnM m3 cambiX 60MbLWNX MPENUMYLLECTB 3SIEKTPUYECKON 3HEprum
SIBNSIETCA TO, YTO OHa 4uCTas, Nierko ynpaensgemass U He [aeT HUKaKuX
nobo4YHbIX NpoAykToB. B Hawe Bpemsi anekTtpuyecTBO obecnevmBaeT Bce
cdepbl YenoBeYecKkon AeATEeNbHOCTU, OT JOMALUHUX CTUPAribHbIX MalIWH 0
HOBEWMLLUMNX Na3epHbIX YCTPOMUCTB. ONEKTPUYECTBO SBMNSAETCA 3PPEKTUBHBIM
MCTOYHMKOM M1 CaMbIX MOCMEOHUX TEXHOSOrMYecknx M3obpeTeHunr, Takmx
Kak riasep W 9neKTpoHHble ny4dn. NMomnctuHe anekTpudectBo obecrieymBaeT
4YenioBeYyecTBO 3Hepruen byayuiero.

V. Find the English equivalents of the following words and word combinations

in paragraphs 4-7.

HoBbIM KOMMNAKTHbIA UCTOYHUK, MEepBble 3NEeKTPUYECKNe NUHUN N CETH,
notpebneHne anekTpuyecTBa, o0cobeHHble CBOWCTBA 3NEeKTPUYECTBa,
MacTepcKkue rno W3roTOBMIEHUIO u3genun u3 cepebpa, Hanbonee LWMPOKO
ncrnonb3yemoe, No Bcemy MHOYCTpuanbHOMY MUPY, B KOHLIE NMPOLUIOro Beka,
3ameHun 6GaTtapen u gpyrve npubopbl, n3obpectn TpaHchopmaTop,
yCreLwHoe pa3BuTne afekTpnu4ecTaa

VI. Find passages about industrial applications of electricity and translate them
into Russian.
VIl. Choose a passage and read it aloud (1-2 minutes).
VIII. Find out the subject-matter and the means of its secondary expression.
e.g. I like your report on electricity. It is made with great enthusiasm.
IX. Find key words, phrases and the topic sentences which express the
general meaning of each paragraph best of all.
X. Using the information obtained from the paragraphs make a plan of the
text.
Xl. Speak about electricity and its applications using key words, phrases, the
topic sentences and the plan of the text.

B. Text Study

I. Look at the title of the text. Make your predictions about the content of it.
Read the text and answer the questions.
a) How is the problem of power supply for distant areas being solved at
present?
b) What are the advantages of solar power?



Text B
SOLAR LIGHT BY NIGHT

Most people living in towns consider it a usual thing that streets are lit at
night. But street lights need a power supply (ucTouHUK aHeprun) therefore
distant areas with no source of electricity remain in darkness until the sun
comes up again.

With new appliances now offered by several British firms, many distant
places could be lit with solar-powered street lights. It may seem strange that
the lamps can use the power of the sun which shines by day when the lamps
are needed at night, but they work by using energy accumulated during the
day from a solar panel. The solar panel produces electricity which charges a
battery. When the sun goes down the battery power is then used for lighting.
Each lamp has its own panel so the system can be used for one individual
light or a number of them.

In the south of Saudi Arabia a motorway tunnel miles from any power
supply is lit day and night by solar-powered devices. The solar panels provide
power during the day and charge batteries which accumulate enough power
to light the tunnel at night. The generation of electricity by batteries is still
expensive but the advantage of sun-powered lamps is that they can bring
light to areas distant from any other power supply.

There is one more advantage of solar power: not only it is unlimited, but
also its use does not pollute the environment. That is why it is very important
to develop devices which make it possible to transform solar power into
mechanical or electric forms of power.

Il. Read the text and define whether the following statements are true or
false.

1. Street lights do not need a power supply nowadays.

2. Distant areas with a source of electricity never remain in darkness.

3. With new appliances now offered by several American firms, many distant

places could be lit with solar-powered street lights.

4. A motorway tunnel in Saudi Arabia is lit day and night by wind-powered

devices.

5. The generation of electricity by batteries is rather expensive.

6. There is one more disadvantage of solar power: its use does not pollute

the environment.

7. The development of devices which make it possible to transform solar

power into mechanical or electric forms of power is very important.

Ill.  Expand the sentences.
1. Distant areas with no source of electricity remain in darkness.
2. Several British firms have offered new appliances.



3. The lamps can use the power of the sun at night.
4. Each lamp has its own panel.
5. The generation of electricity by batteries is still expensive.

IV. Now decide which of the following statements express important ideas or
supporting details for this reading.

1. a) Streets in cities, towns and some villages are lit at night.
b) Street lights need a power supply.
c) The sun does not shine at night.

2. a) Electricity is a source of light as well as heat.
b) AlImost all metals are good conductors of electricity.
c) Several British firms have offered new devices using solar light.

3. a) No other source of energy has been so widely used as electricity.
b) The solar panel produces electricity which charges the battery.
c) Each lamp has its own solar panel.

4. a) Solar power is beneficial means of energy.
b) One of the advantages of solar power is that it doesn’t pollute the
environment.
c) Sun-powered lamps can bring light to areas distant from any other
power supply.

V. Find the words and word combinations — carriers of the primary and the
secondary information in paragraphs 3 and 4.

VI. Define the function of commas and a colon in paragraphs 2 and 4.

VII. Find out the means of connection between clauses, parts of the sentence
and sentences.

Vill.Arrange the sentences in the logical order according to the text.

1. Solar power is unlimited.

2. The solar panel produces electricity which charges a battery.

3. A motorway tunnel in Saudi Arabia is lit day and night by solar-powered
devices.

Streets in cities and towns are lit at night.

The generation of electricity by batteries is still expensive.

Solar power does not pollute the environment.

Distant areas with no source of electricity remain in darkness.

When the sun goes down the battery power is then used for lighting.

O N O A

IX. Give the main points of the text in 4-5 sentences.



C. Text Study

l. Translate the text into Russian.

Text C
NON-TRADITIONAL RENEWABLE SOURCES OF ENERGY

It is known that much is being done in the world today for the
development of non-traditional sources of energy. Without them the Earth
cannot support its present population of 5 billion people and probably 8 billion
people in the 21 century.

Now we are using traditional power sources, that is oil, natural gas, coal
and water power with the consumption of more than 50 billion barrels per
year. It is evident that these sources are not unlimited.

That is why it is so important to use such renewable sources of energy
as the sun, wind, geothermal energy and others. Research is being carried
out in these fields.

One of the most promising (nepcnekTuBHbi) research is the
development of power stations with direct transformation of solar energy into
electricity on the basis of photoeffect. It was Russia that was the first in the
world to develop and test a photoelectric battery of 32,000 volts and effective
area of only 0.5 sq.m., which made it possible to concentrate solar radiation.
This idea is now being intensively developed in many countries.

However, the efficiency of a solar power station is considerably reduced
because of the limited time of its work during the year. But it is possible to
improve the efficiency of solar power station by developing different
combinations of solar power stations and traditional ones—thermal, atomic
and hydraulic. Today some engineers are working at the problem of
developing electric power stations with the use of a thermal-chemical cycle. It
will operate on products of the transformation of solar energy, whereas the
“solar” chemical reactor uses CO, and water steam of the thermal power
station. The result is that we have a closed cycle.

All'these advances in developing new sources of energy and improving
the old-ones help to solve the energy problem as a whole and they do not
have negative effects on the environment.



Grammar Study

®dyHKunm rnaronos ‘should’ n ‘would’

Should

Would

1

2

1. BcrnomozamerbHbIl arna2os, yrnompebrisieMbil 8 KOCBEHHOU peyu 80 8peMeHHOU
¢opme Future — in — the Past (bydyuwee 8 npowedwem).

| said that | should come in time.
A ckasarn, Ymo npuedy 808peMms.

He said that he would come in time.
OH cka3zar, Ymo npuedem 808pPeEMS.

2. BcriomocamernbHbIl enazos, ynompebrisieMbil 8 cocriazamesibHOM HaK/TOHeHUU.
a) 8 yCr108HbIX MPEONOXEHUSIX

We should introduce this method if it were
efficient.

Mbi1 661 6HeOpuUu amom memod, ecnu 6bi
OH bbI151 3GhheKMUBHbIM.

They would introduce this method if it
were efficient.

OHu 6b1 8HEOPUIU 3Mom mMemod, ecnu
6561 OH 6b111 3hPEKMUBHBIM.

6) 8 npudamoyHbIx

rpeoioKeHUSX

lMocne obopomos it’s important (8axxHo),
necessary (Heobxodumo), required
(mpebyemcsi), desirable (>kenamernbHO) u
op. that ...

It is necessary that you should finish your
work on time.

Bam Heobxodumo 3akaH4Yueame pabomy
808pEMSI.

lNocne anazonoe suggest (npednazame),
insist (Hacmausams),demand
(mpebosams), recommend
(pekomeHOo8amb) u Op. that...

He insists that you should do it at once.
OH Hacmausaem Ha mom, 4mobkl 8bI 3MO
cOenarnu HemeOsrIeHHO.

B o6cmosimenibCmeeHHbIX MpPeOrioXeHUsIX
uenu

We took a taxi so that we should not miss
the train.

Mb1 83551u makcu, Y4mobbl He orno3dame Ha
rnoeso.

lNocne enaeona ‘to wish’

| wish she would come soon. (impossible
wish for a future change)

A xomena, 4ymobbl oHa npuwisia
riockopee.

(’Kanb, ymo oHa rnpudem HecKopo)
(HepearbHoe xenaHue, OMHOCcAWeecs K

6ydywemy).

8) 8 rMPOCMbIX rPeOsIOKEeHUSIX
To go there would be useless.
Ndmu myda bbiro 6b1 becrionesHo.




1

2

3. ModarnbHble enacornbl

a) moparbHoe obsisameribcmego, 0ore
You should be always polite. You should
not tell lies.

Cnedyem ecea0a bbimb g8exnuebiM. He
criedyem epamsb;

6) HeodobpeHue npownbix Oeticmsud (¢
nepheKkmHbIM UHUHUMUBOM)

You shouldn’t have done it.

Tebe He criedosasio amo derlams;

8) cosem

You should see a doctor.

Tbl QormkeH cxodumb K gpady (Tebe
crnedoegarsio bbl cxo0ums K gpady)

2) ecmecmeeHHoe, oxudaemoe
Oeticmeue.

He should be at home now.

OH, OomxkHo bbimb, celidac doma.

a) soniegol akm, xomeHue (o
OMHOWEHUIO K MPOWIiomy)

She was going away and would not tell us
where she was going.

OHa ye3xana u He Xenasna cka3ame,
KyOa edem;

6) ynopcmeo, Hacmou4ueocmp

| asked him not to bang the door, but he
would do it.

A npocura e2o He xrioname 08epbHo, HO
OH 8ce pasHOo rpodorsnkar,

a mak>xe 07151 108MOPSIFOULUXCS
Odeticmeuu U 3agedéHHO20 rnopsioka (8
rpowsiom)

Grandma would always make me
porridge for breakfast.

babywka 0bbI4HO 8apuria MHe Kawy Ha
3aempak (makxe: used to) (bbiearo)
U 8 8exriusbIx rnpocbbax

Would you / Would you mind...?
Would you open the door, please?

He moeanu 6bi 8bi...7

He eo3paxxaeme nu ebl...?7

He moenu 6bl 861 OMKpbimb 08epb ?

Muoz2ogpyHKyuOHanbHbIE cri08a

[Npednoe Coros Hapeuue
1 2 3
(+cywecmeumerbHoe, - 8 NMpUOaMOYHbIX MPEOIOKEHUSIX 8 KOHUe
MeCcmoumMeHue, 8peMeHuU npeodnoxe-
Since | eepyHduli) We haven’t seen him since he Hut
He yrnompebrnsiemcs 8 moved to Moscow. We haven’t
Hadarne rnpeodrnoxXeHus Mbi He sudernu e20 ¢ mex rop, Kak seen him
We haven’t seen him OH nepeexars 8 Mocksy since.
since the end of the - 8 NMPpUOaMOYHbIX MPEOIOXKEHUSIX C mex nop
week. MPUYUHbI Mbl €20 He
Mbi He sudenu e2o ¢ Since the lunchroom was full, she sat | sudenu.
(koHUa) npownou at our table.
Hedernu. Tak kak 8 cmosio80U bb1510 MHO20
J1r00el, OHa cesla 3a Hall CmOoJIUK.




1 A 3
For Bbipaxaem: 8 nMpudamoYyHbIX rPeOrIOXeHUsIX

1) epems MPUYUHbI

| shall stay there for We can’t start the engine for there is

some days. no fuel in the tank.

A ocmaHoentocb mam Ha | Mbi He moxem 3agecmu d8uaamerb,

HEeCKOsIbKO OHel m.K. 8 bake Hem beH3UHa. -

2) yersnb

This story is written for

children.

3mom pacckas HanucaH

0ns 0emed

3) ueHbl

for 20 dollars

3a 20%

4) npuduHy

for many reasons

10 MHO2UM MpUYUHaM.
1) 8 npudamoyHbIx MPeOIOKeHUSIX He works as
8peMeHU an
As the train was approaching the engineer.
station, we went to the platform. OH
Kozda noes3d nodxodun kK cmaHyuu, | pabomaem
MbI owinu Ha famagopmy. UH)XeHe-
2) 8 NpudamouYHbIX rMPeorIoXeHUsIX pom.
MPUYUHbI

As As it was getting dark, | took the
tram.
A noexan Ha mpameae, m.K. cmarso
memMHems.
3) 8 npudamoyHbIx rMPeorIoXeHUsIX
obpa3za delicmesusi
She did exactly as | told her.
OHa nocmynuna UMeHHO mak, KakK si
el cka3sarl.
4) 8 npudamoYHbIX rPeOIOKEeHUSIX
cpasHeHus
We were going up the road as fast
as we could.
Mbi winu no dopoze mak beicmpo,
KaK moJsibKO Moasiu.
B npudamoyHbix rnpeoroxeHusix
MPUYUHbI
They couldn’t start the experiment
Because earlier because all the necessary

equipment hadn’t been installed.
OHu He moanu Ha4Yamp
3KCrepuMeHm paHbuie 8 cesi3U C
mem, 4mo 6b110 yCmaHO8/1EHO He
ece Heobxodumoe obopydosaHue.




1 2 3
Because We have chosen this woolen
of Sweater because of its good quality.
Mbi1 ebibpanu amom wepcmsHoU
ceumep u3-3a e20 xopouwezao
Kayecmea.
He came as
well as
John.
As well OH npuwen,
as mak Xe Kak
u [DKOH.
(Mpuwen
OH, a
makxxe
LDKOH)
As to They inquired as to the
actual reason of his late
arrival.
OHu oceedomunuck 0
(Hacmosiweu) npu4yuHe
€20 0r1030aHuUs.
Due to | This is due to the raise
of temperature.
3mo npoucxodum us-3a
(briazodapsi)
rosbIWeHUs!
memnepamypeil.

to be due to (predicative — uMeHHasi YaCcTb Ckasyemoro)

Flight BA 502 from Miami is due to arrive in a few minutes.
Oxudaemcsi, ymo camonem peticom BA-502 u3z Matamu ripusemnumcsi
4yepe3 HECKOIbKO MUHYm.

Cnedyrowue cor3bl yriompebrisomcs 8 Hadarie rnpudamoyHbIX

npeornoXeHuu: a) npu4uHskl:since, for, as, because; 6) spemeHu: since, as;
8) obpa3la delicmeus.: as.

Both...and..., either...or..

., heither...nor... .

LlaHHbIe cot03bI C8513bi8AKOM Yacmu C/1I0XKHOCOYUHEHHO20 MpPeOrioXeHUs
J1ub0 0OHOPOOHBIE YIleHbI 8 MPOCMOM MPEOIOXEHUU.
| am fond of music, both ancient and modern.

My sister and | both helped him.

Either | or he will go.
Neither he nor | went.

5 yerniekarocb My3bIKOU, KaKk cmapUuHHOU, mak u coepeMeHHOU.




Kak mosi cecmpa, mak u s nomoanu emy.
Ytudoem nubo oH, nubo 1.
Hu oH u HU 5 He nowinu.

CocnaraTtenbHOe HaKnoHeHue

[azonbl 8 cocrnazamenibHOM HaK/IOHEHUU 8bipaxkarom xesaemoe,
rnpeorioflacaemMoe Usnu HepeasnbHoe Oeucmeue. B coepeMeHHOM aH2/luliCKOM
A3bIKe CUHMemu4eckue ¢hopMbl cocriazameribHO20 HaK/TOHeHUs, cosrnadarujue
C UHGuHumueom, yrnompebnsawomcsi pedko. Yawe ynompebrsromcecs
aHanumu4yeckue ¢opmbl, cocmosiwue u3 modarbHbIX araz2onoe ‘should, would,
may, might’ u uHpuHumuea. [ng moao, 4Ymobbl ebipa3ume HepeasrbHoe
delicmeue, UCronb3yemcs CMeweHUe epeMeHU’ — 2ra20/bl 8 npowedwem
8PEMEHU 8blpaxkarom HepearibHoe Oelicmeue 8 Hacmosiwem, a ¢hopmbl Past
Perfect — e npouwiriom.

CocrnazamernisHoe  HaK/loHeHue  0b6bIYHO = yriompebrisemcss 8
rnpudamoYyHbIX rpeodrioxXeHuUsix rnocre obopomos ‘it is necessary, it is required” u
op.; 8 dornonHuUmMerbHbIX MPUOamMoYHbIX rnPeosrioXeHusIX rnocre anazorsnos ‘order,
command, suggest, insist’, a makxe anazona ‘wish’; 8 o6cmosimeribCmeeHHbIX
rpudamoyYHbIX MPEeOOXEeHUSIX Ueslu U HepeasibHO20 yCIi08Us.

It is required that pupils should come in time.

| suggest that you should read it yourself.

I wish | had that book.

We wished they would tell us everything.

Write down all these words lest you should forget them.
If you were more attentive, you’d study better.

Tpebyemcs, ymobbi yHauuecsi npuxoousiu 808PEMSH.

A nonazato, mebe criedyem ripo4yecms 3MmMo caMomy.

Xarnb, ymo y MeHs1 Hem amou KHuau

XKanb, Ymo oHuU He paccka3arnu Ham 060 ecem.

3anuwu ece amu crnosga, Ymobkl He 3abbimb UX.

Ecnu 661 mbi 6611 6051€€ 8HUMamesibHbIM, mbl 6bl1 y4UIICA fTydwe.



YcnoBHble npeanoxXeHumd

Tunbl ycrogHbIx Cumyauus / ycriogue Cot03b1 / COKO3HbIE
rnpeonoxeHuu crioea
1. U3sbsseumernbHoe | peasibHoe ycriosue, If ecrnu
HaK/IoOHeHue OmHocswuecs K unless ecsiu He
Hacmosuwemy, even if oaxe
npoweowemy unu but for ecnu
bydywemy epeMeHU; in case etc | ecnu 6bi
2. Cocnazamernb- | HepealibHoe ycriogue He
HOe HaKJ/IoOHeHue 1) HeseposimHoe 8 c/y4Jyae
Oelcmeue, omHocsweecs npu
K Hacmosiwemy unu ycnosuu,
6ydywemy spemMeHu umo
2) MariogeposimHoe, HO u m.o.

B803MOXHOe delicmaue;

a makxe ynompebnsiemcs
8 MPeOrIoKEHUSIX,
gblpaxkarouwux coeem,

3. Cocnazamernb- | HepealibHoe ycriogue,
HO€ HaK/IoOHeHue OmHocsweecs K
Oelcmeutro, He umeswemy
Mecma 8 rpowisioM, Xxomsi
U 803MOXHOMY, @ maKxe
ucriosib3yemcs 0rs
8blpaXeHUsl COXalleHUs,
Kpumuku, He000bpeHUsl.

llpudamoy4yHoe rpedrioxeHuUe ycrogus, rnpedwecmesyruee ar1agHOMYy
npeodrnoxeHur, omoensemcs 3arnsmou. Cywecmsayom makxe cMewaHHble
muribl YCrI08HbIX APEOIoXeHuUl. BeposmHbl rnobbie KOMbUHayUU 8peMeHHbIX
¢opm erazoros, 8 3asucumocmu om KoHmekcma. Hanpumep: If she had
finished it yesterday, she wouldn’t be doing it now.

Ecnu 6kl oHa 3aKoH4urna amo e4yepa, mo He denarna bbl 3mo ceu4yac.

Bo scex mpex munax ycriogHbIX npeodsriox)eHul cor3bl / cot3Hble crioea: If,
provided u Op. mocym O6bimb ornyweHbl. B rpudamoyHOM rpeorioxeHuu
ecmpeyvatomcess makue enazosbl, Kak had, were, could, might, should. B
makom criydae umeem mecmo obpamHbil nopsidoK Crios.

Hanpumep: Ecnu oH npudem, mo nycmsb rnodoxoem meHs. - Should he come,
let him wait for me.

Ecnu 6b1 oHa bbina cneyuanucmom 8 daHHou obriacmu, Mbl bb1 nokasanu el
Hosyto ycmaHoeKy. — Were she a specialist in this field, we should show her
the new installation.



Bo3MOXHOCTb, BEPOATHOCTb, NpeanorioxXeHune,

rpaHnyaillee Cc yBepeHHOCTbIO

MNpennonoxeHune, 6nnskoe K yBepeHHOCTU

Jloeuyeckas
Heu3bexxHocmb

‘must’ +
HerepgeKkmHbIU
UHghUHUMUB obwezo
gulda (cumyayusi 8
Hacmoswem unu
byoywem)

‘must’ + nepgpekmHnbit
UHbUHUMUB
(cumyauyus e
rpowsiom)

You must be hungry
after such a long walk.
Bbi1, 0ormkHO 6bimb,
rpozosiodasnucek rocrie
dorneou rnpoaysiKu.

She must have been
very worried when she
heard about the
accident.

OHa, 0o/mKHO bbImb,
OYeHb
paseosiHogarsiaco,
ycribluas o
HecyacmHOM criyyae.

YGepeHHocmb, 4Ymo
Jioeu4yecKu amo
HEeB803MO>XHO

‘can’t / couldn’t’ +
HernepgheKmMHbIU
UHGhUHUMuUE obwezo
guda ( 8 Hacmosiwem u
byodywem)

‘can’t / couldn’t’ +
nepgheKkmHbit
UHGbuHUMUS (8
rnpowsiom)

‘can’t’ ebipaxkaem
Oelicmeaue,
rPoOMuUBOIONIoKHOE
MOMY, 4MO 8bIPa>xKeHo
enazosnom ‘must’

Surely she can’t be fifty.
She looks much
younger.

He moxxem 6bimb,
4ymobsi et 6b110 50.
OHa eblenissoum
20pa3do MorioXe.

You can’t have locked
the door. It was open
when | came home

He moxxem 6bimb,
4mobbi mbl 3aKpblisl
0sepb Ha 3aMoK. OHa
6bi1r1a omkpbima, Koz20a
A npuwen doMod.

It can’t be true. It must
be a lie.

3mo He moxxem bbimb
npasdou. [JormkHo
6bImb, 3MO J10Xb.




Mbi HaOeemcs, Ymo Ought to / should + Has Jim come yet? He
deticmeue rpous3owsno, | nepgeKkmHsbit ought to / should have
HO He y8epeHbl 8 3MOM | UHGUHUMUS come an hour ago.
(cumyauyus e Lbxum yxe npuwen?
rnpowsiom) OH OorikeH bbin
npuumu Yac Ha3sad.
Leucmeue Can + HenepgekmHbit | There can be a
meopemuyecKu UHGUHUMUB thunderstorm today.
803MOXHO Baby tigers look
cuddly, but in fact they
can be very dangerous.
Ce200Hs1, B03MOXXHO,
6ydem epo3a.
Tuepsima eblensidsim
MUIbIMU, HO Ha caMoM
derie, OHU Mo2ym
b6bImb 8ecbMma
OfnacHbIMU.
BoamoxHocmb
Bo3amoxHo, ‘may (not) might (not) / could | Look on that shelf,
npeonorsnoxumersib- | + HerepgeKkmHbIl your scarf
HO (COMHeHue, UHUHUMUE obwezo unu may/might/could be
HeygepeHHOCMb) dnumersibHO20 8uda (8 there.

Hacmoswem unu 6ydyuwiem)

may (not) / might (not) /
could + nepgbekmHnbil
UHGbuHUMU8 (cumyauyusi 8
rnpowsiom)

3aerisiHu Ha roriKy,
803MOXHO, meou
wapg mam.

| won’t phone now,
they may/might/could
be having lunch.

1 He xo4y 380HUMb
um ceutiyac, Moxxem
6bimb, OHU
obedarom.

She looks very
unhappy. She
may/might/could
have lost her job.
OHa 8blenissoum
O4YeHb Hec4YacmHoU.
BoamoxHo, oHa
rnomepsina pabomy.




BepossmHocmb (npasdornodobue)
Heumo siensiemcsi | Ought to / should + There ought
8€POSIMHbIM, HerepgeKkmMHbIU to/should be much
npedrnonazaemoe / | UHGbUHUMUE (cumyauyusi 8 fruit this year.
oXudaemoe Hacmosuwem unu 6ydywem) | Budumo, 8 amom
Oelicmeue 200y 6ydem MHo20
pyKkmos.

Lrns ebipaxkeHusi B03MOXXHOCMU 8bINosIHUMB delicmeue 8
gorpocumeribHbIX MPeorioXeHUsiX He yriompebrnissemcs anaz2on ‘may’.
Bo3moxHocmb ebipaxkaemcsi crnedyrouwumu criocobamu:

Can she? Could he? Is she likely to? Is it likely that? Might he?
Hanpumep: Cmoxem ru oH ebiugpams? — Is he likely to win?

|. Translate into Russian.

A
1. If you study hard, you will pass your exams successfully.
2. If | stay here, | shall take part in your work.
3. He will achieve better results provided he applies this method.
4. In case we fulfill this task, we shall write an article.
5. My report will be ready tomorrow, providing | have all the necessary
materials.

B
1. If he were present at the lecture, he would not make so many mistakes
in this paper.
2. He would finish his project unless he were ill.
3. We should do our best to show our skill provided we were given this
work.
4. If they had time, they would complete the work sooner.
5. In case | saw him, | could speak to him.

C
1. He could have made that great discovery earlier if he had had better
conditions for work.
2. I should not have agreed to take part in your research unless | had
been sure of its significance.
3. In case | have understood the importance of the matter, | should have
acted differently.
4. Unless they had studied programming, they would not have compiled
the program.
5. If the mechanic had been there, he might have repaired the device.



Il. Write these sentences putting the verbs in brackets into the correct
tense.

1. If you drove more carefully, you (not have) so many accidents.

If you drove more carefully, you wouldn’t have so many accidents.

2. If he (get up) earlier, he’d get to work on time.

If he got up earlier, he’d get to work on time.

3. If we (have) more time, | could tell you more about it.

4. If you (sell) more products, you'd earn more money.

5. | could help you if you (trust) me more.

6. His car would be a lot safer if he (buy) some new tyres.

7. | wouldn’t mind having children if we (live) in the country.

8. If I (be) you, | wouldn’t worry about going to university.

9. Ifl (have) any money, I'd give you some.

10. Your parents (be) a lot happier if you phoned them more often.

11. Where would you like to live if you (not live) in Paris?

12. What would you do if you suddenly (win) half a million pounds?

13. Would you mind it if | (not give) you the money | owe you today?

14. If | had to go to hospital, | (not go) to this one.

Ill. Define grammar functions of “should” and “would” in the following
sentences:
Modal verbs:
Reported speech:
Subjective Mood (and Conditionals):
1.  When Marta was younger she would work day and night to feed her
family. Time and again | would see her coming very tired.
2.  We should finish the work in time, provided they had necessary
equipment.
3. We waited till evening, but the thunderstorm would not cease.
4. We assured our supervisor that we should be able to overcome all the
difficulties in our research.
5. The measurements should have been made with greater accuracy.
6. Had you reached an agreement on the problem, the results would have
been obtained by now.
7. “You should take more exercise,” the doctor said.
8.  Tom promised his father that he would clean the car the following day.
9. ldon’t have time, but if | had more time, | would go to the gym.
10. Itis very important that you should take part in the discussion.
11. Everybody required that the new methods of management should be
taken into consideration while making the program.
12. Would you mind typing this report for me?
13. He asked me when they would be through with that experiment.
14. | wish that this new method would be applied.
15. You should be hungry now.



IV.Define the functions of since, as, for, because, because of.

| have a small car because it's more economic to run.

But economics as an academic discipline is relatively new.

A basic understanding of economics is essential for citizens.

Since that time the subject has developed rapidly.

He’s been running the company for ten years.

Because there are no others to consult, the owner has absolute control
over the use of the company’s resources.

7. It's a pity we haven’t made any calculations since.

8. People accept money in exchange for goods and services.

9. At the same time money also acts as a unit of accounts.

10. Since time is money, make sure your system is comprehensible.

11. As our knowledge grows and we increase our skill, we'can exploit more
and more of opportunities that nature offers to us.

12. I've bought this house because of its external.

13. She is not so quiet now as she was in her childhood.

Dk wWN =

1. Prepositions ......... 2. Conjunctions ......... 3.-/Adverbs



Key

Unit |
l.

a) filament a) increase b) utilize
current invention insulate
cathode electron amplifier
diode substantial rectifier
grid apply evacuate
oxide control
plate emit

supply
II. 1-f; 2-c; 3-b; 4-a; 5-d; 6-e; 7-g; 8-h; 9-i; 10-j.
Il. a) 1-b; 2-c; 3-a
b) 1-b
c)1-b

V. Substantial, active, static, utilizable, chargeable, circuitous, electronic, inventive.

V.l To amplify — to strengthen, enclosure — fencing, flow — current, to supply — to
provide, tube — valve, power — energy, substantial — real, to act — to do, to apply — to use,
to cause — to occasion, to coat — to cover, to control — to regulate, to emit — to radiate, to
place — to put, to state — to confirm.

VIl. a-4; b-3; c-5; d-1; e-2; f-6; g-7; h-8; i-9; j-10.

Grammar Study

l. a) do you go

d) are you waiting
a) doesn’t know
b) I'm having

c¢) do you leave
d) is happening
e) do you know
f) I'm having

g) doesn‘t work
h) are you doing

Il.  a)does Sue Live
b) you know Jim
¢) are you doing at the moment
d) you sitting here
d) we change trains here
e) are you wearing two pullovers
f) David staving with Tom
g) does Kate come home

Ill.  a) Naomi Bill aren‘t watching television.
b) Peter doesn't like chocolate cake.
c¢) Carol doesn't drive a little red sports car.
a) I'm not using this pencil at the moment.
b) The children aren't having lunch in the kitcher.



c) The sun doesn't set in the east.
d) I don't get up early on Saturday.
e) Kate isn't writing a novel.

f) Sue doesn't live in London.

g) We aren't waiting for you.

IV. a) 2
b) 1
c) 1
d) 2
e) 1
f) 2
g) 2
h)1

V. a) | don't believe

b) has

¢) I'm leaving

d) are you doing
e) You are being
f) I'm driving

g) are we eating
h) tastes

i)are you going
J)I don‘t understand
d) understand

Vi. 1) hate
2) are you going with
3) do you wear
4) think
5) doesn't usually sit
6) are you looking at
7) does this bus stop
8) am not taking/is giving
9) eats
10) Do you know
11) are you staring
12) do you speak
13) is staying
14) are putting
15) Are they speaking

Vil a)B:2; b) B:2;c) B:1;,d) B:1; e) B:1;f) B:1.
Vil 1) is goining / is going to join

2) won't be

3) will snow

4) am goinig out

5) are going to knock

6) will probably ride

7) is going to give / is giving



8) am going
9) are going to hit
10) will probably win

Unit Il

l. a) technical, system, process, program, sequence, logical, modern, govern
b) machine, industrial, control, importance, objective, employment, fulfill,
require, technique
c¢) possibility, automatic, information, subdivision, computation, reliability

. solve problems
pave the way
develop principles
work out the algorithms
perform operations
fulfill the program
utilize techniques
govern processes
transmit information

IX. 1) technical possibilities
2) cybernetics
3) engineering sciences
4) technical cybernetics
5) objectives
6) control algorithms
7) programs
8) systems
9) are applied

Text B
ViIl. BEDAC

Unit 111
l.
a) problem, mobile, ticket, message, user, nowadays, Internet, cellular, ordinary,
telephone, tendency, different, wireless.
b) mankind, technology, transmit, compare, conception, enormous, expose, device.
c) ~communication, apparatus, operation, application, exhibition, electronic, television.

1.
1h; 2,34k 5b,6g,7e;,8d;,9a; 10¢c; 11..

1.

a) 1.c b) 1. a. c) 1. a. d) 1. b.
2.a 2. C. 2. C. 2. a.
3. b 3.c 3.a 3. b.
4. a 4. b 4. b 4. a.
5. a



V.
Technological, electronic, operational, speedy, spherical (spheric), voiceless, helpful
(helpless), theatrical, sensible (sensless), breakable.

VI
1/h; 2/d; 3/k; 4/a; 5/1; 6/b; 7/j; 8/e; 9/o; 10/f; 11/c; 12/i; 13/g; 14/m; 15/n.

ViI.
a/7; b/6; ¢/1; d/9; e/2; 1/8; g/4; h/10; i/3; j/5.

IX.
1. cellular; 2. “know-how”: 3. subscribers; 4. non-business; 5. data; 6. Mobile,
communication; 7. Web; 8. Internet, video; 9. net; 10. electronic.

Text Study. Text B.

Vill.
2,51,4,3

Grammar Study

BpemeHa epynnbi Perfect
l.

1) Has your sister written

2) have had

3) has never seen

4) has stolen

5) have not slept

6) have just broken

7) hasn’t won

8) Have you ever eaten

1.

1) always
2) ever
3) just

4) yet

5) for

6) never
7) so far
8) often
9) already

a) haven’t been on a plane

b) my pen has

c) have left

d) have just seen

e) haven't finished (writing)

f) you been to South America
g) have left

h) have not spoken

i) Anna/she woken



IV.

1)
2)
3)

VI

a)

went/found/had stolen
met/knew/had met
got off/was walking/realized/had left

had broken
wanted

had stolen
thought

had done
needed

did not know
had flown
had been
took place

2/4, b)1, ¢)8, d)3, e)5 f)2/4,

BpemeHa epynnbi Perfect Continuous

l.

1.

8)
9)

has just stolen

left

| lost

I've decided

It's started

have visited

I've been standing
has been

went

Have you seen

have been studying/have not finished
have been phoning/has gone

Have you heard/has robbed

Have broken/has written

has gone

have been learning

haven't finished

just left

have written / have finished
haven’t been

haven’t eaten

forgotten

has changed



V.

1) They had been playing football.

2) Somebody had been smoking in the room.
3) She had been dreaming.

4) He had been watching TV.

Vi.

1) | had been waiting for 20 minutes when | suddenly realized that | was in the wrong
restaurant.

2) At the time the factory closed down, Sarah had been working there for five year.

3) The orchestra had been playing for about ten minutes when a man in the audience
suddenly began shouting.

4) Example answer: | had been walking along the road for about ten minutes when a
car suddenly stopped just behind me.

ViI.
1) was walking
2) had been running
3) were eating
4) had been eating (had eaten is also possible)
5) was looking
6) was waiting ... had been waiting
7) had had
8) had been travelling

Unit IV
l.

a) media b) device c) storage capacity
rate demand availability
satellite consumer trunk line
transport transceiver telecommunications
wireless towards information
access increase fiber-optic cable
bandwidth consider application
core relay decompression
linkup device bursts of light
handle telephone call
standard copper wire
button
range
analog
data
digital
launch
site

V.
Accessible, medial, useful (useless), wireless, wonderful, digital, transportable, limitless,
breakable, normal, formal.



Grammar Study

| 2. is watched
3.will be finished

4. has been elected
5. is being rebuilt
6. has been closed
7. are written
8. was stolen
9. will be met
10 was won
1. Many pet dogs are lost every year.
2. The ill man was taken to hospital.
3. A new bridge is being built across the river.
4. 4All the food at the party was eaten.
5. Nothing will be decided before next Saturday.
6. The meeting is holding every Friday.
7. This book was written by Sam’s father.

1.

The casino has been closed.

The flat was broken into last week.

English is spoken all over the world.

The new swimming-pool has opened.

The purse was left in the classroom yesterday.
Traffic has been banned from the city center.
The match has been postponed.

Noohkwh=

IV.

a) cut

b. taken

sent

serviced
broken
offered

were you born
repaired

S@ ™o a0

Bob has his bike stolen.

This book was lent to me by John.
Yesterday | had one of my teeth taken out.
| was born in Cairo.

| was sold a rock concert ticket by a friend.
Tom had his house broken into last week.
When exactly were you born?

| was given this ring by my parents.

ONOORWON =



Unit vV

a) natural, panel, solar, tunnel, motorway, power, during, battery, lighting, therefore,
concentrate, area

b) pollute, consider, advantage, expensive, consumption, accumulate, remain, unlimited,
mechanical, hydraulic, enough, supply

c) non-traditional, photoelectric, thermal chemical, civilization, population, photocopying,
electrometallurgy, individual, sun-powered, geothermal, transformation

1.

Modal verbs: 1, 3, 5,7, 12, 15

Reported speech: 4, 8, 13

Subjunctive Mood (+Conditionals): 2, 6, 9, 10, 11, 14

IV.

Prepositions: 3, 4, 5, 8, 12
Conjunctions: 1, 6, 10, 11, 13
Adverbs: 2,7, 9
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